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Topic:- Nutrition and Health

1) Diet of a protein energy malnourished child should be rich in:/ ﬁa?-wfwﬁﬁﬁaimiﬁ_ﬁwﬁmﬁq:
1. Protein/ IGiC

2. Carbohydrate/ Wﬁ‘&:ﬁ%‘c’

3. Both of the above/ IWRIa gHI

4, Spices / T

Correct Answer :-

« Both of the above/ RUNESEAD]

2) How much protein are given to severely malnourished Children (SAM) under the revised norms of ICDS?/ ICDS &

TR APl & st TR T U UG (SAM) T B fpae W foar wrar @2
1.12-15g/12-15%°

2.20-25 g/20-25 U1

3.30-35g/30-35U1

4. 40-45 g/40-45 U1

Correct Answer :-

« 20-25g/20-2571

3) Which of the following measure helps in the prevention of malnutrition in children?/ 378 ¥ ®9-91 U g=i § HUIg0l
Pt AU HIA A Wag HaT 82

1. Promotion of breast feeding/ UM &1 dgTal

2. Nutrition Education/ GTSuT Twe=iT e

3. Family planning and space of birth/ URaR faieH Ud 9 & o9 § fRTd
4. All of the above/ Iudad g4t

Correct Answer :-

« All of the above/ Iudad gt

4) A balanced diet should provide around:/ I=Jferd 3R & frern =nfee:
1. 20-25 percent of total calorie from carbohydrate/ BTIEISSC T FA HTRT BT TIHT 20-25 T

2. 40-45 percent of total calorie from carbohydrate/ HTABTESC ¥ FA BRI BT THIUT 40-45 TfT=Id

3. 60-70 percent of total calorie from carbohydrate/ FTEIEIESE T B BART BT TTHT 60-70 TAT

4. 70-80 percent of total calorie from carbohydrate/ FTIgISSe T Ho HTRT BT TTHIT 70-80 UART

Correct Answer :-

« 60-70 percent of total calorie from carbohydrate/ FTHEEIC T F& BRI BT TTHIT 60-70 TAT

5) Which of the following is not an important parts of treatment of diarrhea is/are:/ Eﬁﬁﬁm%mﬁw

T TEY 3782



1. To prevent dehydration from occurring, if possible/ afg TR g1 d fAsiele ol 81 &1 AHYUM HIAT
2. To treat dehydration quickly if it does occur/ Tfe fFAsTele Ul 81 ST o STHT Aol T IUIR BT

3. To feed the child/ =3 &T U WRAT

4. To include oily and spicy food in the diet/ 38R & deid 3R AMAGR HIoH fHd BT

Correct Answer :-

« To include oily and spicy food in the diet/ 38R & delig 3R AYTAGR IS TN BT

6) Which one of the following is a rich source of protein?/ Eﬁ@ﬁ,mﬂmm%?
1. Fruits/ ®d

2. Soybean/ TaTeA

3. Milk/ gY

4. Rice/ d1dd

Correct Answer :-

« Soybean/ HOEH

7) Which among the following is a viral disease?/ sﬂﬁﬁaﬁﬁwﬁ'ﬂwﬂﬂﬂﬁ%"
1. Diphtheria/ f&wiifwan

2. AIDS/ TS

3. Whooping cough/ &Tail @i

4. Cholera / &Sl

Correct Answer :-

« AIDS/ U9

8) Good source of vitamin C is:/ faerfiq ¢ WW@H%
1. Fresh fruits and Vegetables/ %d g gfeat

2. Cereals/ 3{Is

3. Pulses/ aId

4. Milk/ g4

Correct Answer :-

« Fresh fruits and Vegetables/ %d @ fesdi

9) According to ICMR 2010 the energy requirement of a sedentary male is:/ ICMR ZOIOaFGH\qWﬁ'@THW%ng
SHTAIHT 8:

1. 1900 kcal/ 1900 b et
2. 2320 kcal/2320 fraidmart
3. 2730 kcal/2730 fHaieant
4. 3490 kcal/3490 fFaiFaRt

Correct Answer :-

. 2320 kcal/2320 fpaipar

10) Which of the following is a goal of antenatal care?/ 399 ¥ ®I9 YHaYd QA BT Uh @& 87
1. To keep the mother healthy/ AT & WY T

2. To help prevent problems like low birth weight and newborn infections/W%WWW@W@W@WW%WW
sl B AbUH H HeE HIAT

3. To have a normal delivery/ ITHI- U¥d HRAE]



4. All of the above/ Iudad g4t

Correct Answer :-

« All of the above/ ij?ﬁm-ﬂ

11) Which Energy source should be avoided during pregnancy?/ nuhwﬁmwﬁmﬁmaﬁqz)
1. Fat/ 991

2. Carbohydrate/ WIETE‘IE%‘C’

3. Protein / Ui

4. Alcohol/ Tehigd

Correct Answer :-

« Alcohol/ Tehigd

12) The process by which an individual's immune system becomes fortified against an agent is known as:/ ag ufspar,

fRores g1 safada &1 wfeeen 9, et el S g edipagiomare, _ weard &
1. Vaccination/ ¢leTeR01

2. Immunization/ UfaRefdRol

3. Both of the above/JtRidd g+t

4. None of the above/ IWRIad # ¥ BIs g1

Correct Answer :-

« Both of the above/m?ﬁ' gt

13) Raised cortisol level lowers growth hormone and so the child becomes:/ HifeHld BT 9T §AT TR i A | H H
3 & s s=n B ST 8

1. Wasted/ &3 ¥ difsa

2. Stunted/ ISy § difed

3. Obese/ HICTURRT

4. All of the above/ Iudad gt

Correct Answer :-

« Stunted/ 3feRy ¥ difea

14) Maternal under nutrition effects:/ waﬁmm%wﬁwﬁaﬁﬁ_mmm%:
1. Quality of breast milk/ T & gY &1 Tora<

2. Quantity of breast milk/ AT & g &1 AT

3. Both of the above/ IR gt

4. None of the above/ StRIad § ¥ HIs g

Correct Answer :-

« Both of the above/ IR gt

15) Which one of the following pair is incorrect?/ gﬁ@ﬁﬁ-m\?ﬁiﬁm%‘?
1. Malaria- Mosquito/ Haofear - TR

2. Polio- Monkey/ qifery - s

3. Plague- Rat/ @HT - @I

4. Tapeworm- Pig/ WIdl HH - YR

Correct Answer :-

« Polio- Monkey/ Tiferl - §ax



16) Which of the following functions performed by the protein in the body?/ mﬂvﬁtﬁﬂwaﬁﬁaﬁmmmaﬂ%%‘?
1. Immune function where antibodies attach bacteria and viruses/ UfaRe &1 &7, freH ttaTel Siarupsi oiR fawropsh § e o &
2. Acid base balance where proteins act as buffer/ 3%-&R T~a SRTH UIEH, THR BT B I &

3. Transport lipoproteins and other carrier molecules/ URTET AU 3R 3 A6 AT

4. All of the above/ Iudad gt

Correct Answer :-

« All of the above/ G‘q?j'cl?lﬂlﬂ

17) Which of the following is not an infectious disease?/ $TH A P Th HshTH® 1T T8I &2
1. Influenza/ SURIUST

2. Measles/ @I

3. Tuberculosis/ &3 I (SLERG N R)

4. Night Blindness/ didt

Correct Answer :-

« Night Blindness/ e

18) Which programme was launched by the Hon’ble Prime Minister on 12th April 2005?/ 12 3rlie 2005 P AT
T gRT 5 Srfshd Bt ey fomar T Ar?

1. Health & Family Welfare/ ¥4 Ud URaR S0l
2. Food & Public Distribution/ EG ERCACERE R
3. National Rural Health Mission/ =1l ¥%d s fRH RTTa Ari0r T siftar)

4, Women and Child Development/ Afgal T8 aTd faem

Correct Answer :-

« National Rural Health Mission/ -TRIFdl ¥ ged FIXH (1910 UTHivn Wy i)

19) D.P.T vaccine cannot be used for the prevention of:/ D.P.T SRII ST STERT & ApurH & forg 7 fovam o Iova @
1. Diphtheria / fS®itfear

2. Whooping cough / &Tait @igt

3. Tuberculosis / &3 I (CIERGAR)

4. Tetanus/ feeTg

Correct Answer :-

« Tuberculosis / &3 I (CTRGATIN)

20) According to ICMR 2010 the amount of protein required by infants( 6-12 month) per day are:/ ICMR 20103?3@1'\’,
Tauira e (6-12 AT8) ¥ forg ufafeq smazas Wid= & A

1.1 g/Kg body weight/ 1 9/ TRR YR

2. 1.69 g/Kg body weight / 1.69 T/f&3 IRR HUR
3.2.25 g/Kg body weight/ 2.25 I1/fUT IR YR
4. 3.4 g/Kg body weight/ 3.4 T1/f1 TRR 4R

Correct Answer :-

« 1.69 g/Kg body weight / 1.69 T1/fT TRR 4R
21) Vitamins are known as:/ fderfiq &
1. Organic compounds/ HTe[d Afe

2. Inorganic compounds/ 3®Ta® AfH



3. Living organisms/ Sifad UTof
4. None of the above/ IWRiad # ¥ HI3 Tl

Correct Answer :-

. Organic compounds/ ®Td[® AfH

22) Which of the following is important for proper utilization of iron in body?/ WRA am‘—rmaﬁaaiﬂﬁmaﬁ%ﬁrq

TTH | B9 Tgygul 82

1. Carbohydrate and fat/ ®Talggse Td a1

2. Ascorbic acid and protein/ TWpITad 3 T WA
3. Nicotinic Acid and Fat/ Fe@fef e st wd a1

4. Fat and Protein/ 991 Td UIdH

Correct Answer :-

« Ascorbic acid and protein/ TEhIa® 37T Td WA

23) Which of the following is not recognized as eating disorder during the adolescent period?/ Eﬁﬁﬁﬁﬂ{ﬁ?ﬁ?ﬂﬂ?
R &1 WH-UH | TRId fIeR T 717 wrar 82

1. Anorexia nervosa,/ TARTeRRT FafaT
2. Bulimia nervosa/ gelfarar watam

3. Menstruation/ TR ¢

4. Bing eating/ ﬁﬂ?’ﬁ CRRCIEI

Correct Answer :-

. Menstruation/ AT e

24) How many days in the year State Governments/UTs have been requested to provide supplementary food to the
beneficiaries through ICDS scheme?/ T WRBRI/P5 AT &  [CDS FIoHT & ATeHH I aryTiiaY ot af # ﬁ)‘cﬁﬁqw ve
ST H BT 3Ry fopam mar 82

1. 100 days/100 f&=
2.200 days/zooﬁ_'f
3. 300 days/300 f&=1
4. 400 days/400ﬁ'rf
Correct Answer :-

« 300 days/300 f&

25) In which of the following disease Oral rehydration salts (ORS) solution therapy is not used for the treatment:/

TH W 5 A7 F TR H SiRT AeTUIIH Tieed (ORS) T Riferer &1 Suaiw g1 fapan wvar &
1. Diabetes/ AYAE

2. Dysentery/ ofy=r

3. Loose motion/ Udel Hel

4. Diarrhea/ UG (Gw)

Correct Answer :-

« Diabetes/ AYH®

26) Which of the following statement is incorrect about the tetanus?/ mﬁﬁﬁaﬁﬁﬁq—mwm%
1. Toxin-mediated disease caused by Clostridium tetani/ I8 TR gaH fee-t ¥ RO §F aTar U Shafay mferd I g

2. Tetanus is transmitted from person to person/ Tcd AR § TR B! thaldl §

3. Clostridium tetani spores are introduced into acute wounds from trauma, surgeries and injections, or chronic skin lesions and

infections/STAT ({TTd), W@Wﬁmﬁﬂﬁm%maﬁ@mﬁﬁﬂ@%@ﬁﬁ%ﬁqmﬁm%



4. The incubation period of tetanus is usually between 3 and 21 days/ e H ®T WMEa HIA (FRIIIH NRTS) IR R 3 T 21 f3T H1

GRS

Correct Answer :-

. Tetanus is transmitted from person to person/ ¢e-g fad ¥ AR B el &
27) Major advantage of breast feeding is/are:/ WE‘[/Q?E@I?ITH e
1. Low lactose content / AGE &1 HH AR

2. High casein/ % &1 3= 91

3. Strong immunity/ ifa=mrel TfcRem

4. E. coli factor/ §. HIdTs ucdh

Correct Answer :-

« Strong immunity/ fdT=Ie UfoRe

28) Prophylaxis programme against vitamin A deficiency is being implemented by the Government of India in year:/

YRAWBFRGRITY A fyerfiq A *gAar & favs ARy srfwa o1 sraf-aa- fear & 3w @:
1.1970
2.1982
3.1992

4,1998

Correct Answer :-

29) Low birth baby should receive vitamin supplementation in addition to the amount present in human milk

because:/ T & JHT HH UR aTdt IR H) W11 & gy A IufRa faerfim it aen & ary-ary e de ot fres arfze wife:
1. Premature infants are born with low body stores of vitamin/ 95T ¥ T8 o= el & IWR A fJe1fem & 1R suafa g §

2. Their growth rate is rapid/ 37! 3fg &R 31w gt §

3. Their gastrointestinal absorption is reduced/ 378 ST A=Y HH gldl &

4. All of the above/ Iudad Tt

Correct Answer :-

« All of the above/ Judad guft

30) Which of the following is not used as an indicator of malnutrition?/ Wﬁmm%m%mﬁmqﬁmﬁ?
1. Body Mass Index/ ol U S8

2. Skin fold thickness/ @dT & AIS &1 AlCTS

3. Mid-Upper Arm Circumference/ AtI-3US} dig @1 gl

4. Blood Pressure/ Xad<d

Correct Answer :-

» Blood Pressure/ Xa&ddly

31) Measles is an acute childhood infectious disease caused by:/ mﬁﬁ@ﬁm@(—ﬁ&ﬂﬁmﬂﬂ%“ﬁ @ﬁ?ﬂ

1. Virus/ fawmgp

2. Bacteria/ SfiaTy]
3. Both of the above/ JWIad gt

4. None of the above/ mﬁ@fﬁ:@'

Correct Answer :-



« Virus/ faumg

32) Which of the following vaccine is used for the prevention of polio?/ WM F AHUTH F 1T 3790 A forg IRAT P71 ST
Topan <iran @2

1. DPT

2. BCG

3.0PV

4. All of the above/ Iudad Tt
Correct Answer :-

« OPV

33) Which of the following classification is used to classify the nutritional status of malnourished child?/ﬂﬁl‘dﬂiﬁaﬂ
Ty fRufa 1 Fffeur 9 & fo 3999 | v affeur &1 SueiT fopa wirar @2

1. Gomez classification/ gt a¥ffeRoT

2. IAP classification/ IAP FiffRur

3. Water low classification/ dfexal aifaor
4. All of the above/ Iudad gt

Correct Answer :-

« All of the above/ Iudad g+t
34) Which of the following statement is incorrect?/ sﬁﬁaﬁ'—r-m FYT A 82
1. Passive immunity occurs after taking a vaccine or injection/ FifSpg ufaRen 3o a1 SS9 @AM & S gfed gl §

2. BCG and small pox vaccines are made up of weak live disease producing germs/ BCG 3R 39 & JaiIH I el = aTdl Siifaa, fwg
HAGR AN A A &

3. Diphtheria and tetanus are controlled by the administration of toxoids/ fSTRIRAT 3R Te=g &1 a0 shafaury (elaaizs) S foar
EIGI

4. Vaccines are made up of dead disease producing germs;/ JaH, T JH B aTel Hl JMU[ST T &9 81 §

Correct Answer :-

« Vaccines are made up of dead disease producing germs/ 3o, A7 STH H a1 Ja A3 § T4 Bl &

35) The school age period is considered as the age from:/ fagerdt omrg Ft s@afy TP B 3T P! WA 8
1.1-6 years/l-eTﬂf

2.6-12 years/6—123'ﬁf

3.12-15 years/12-15 ¥

4.15-18 years/15-18 a4

Correct Answer :-
e 6-12 years/6-126|1Sf

36) Supplementary food, other than mother’s milk is recommended for babies at the age of:/ Eil arrg%?mgeﬁa?
o \TaT & gy & Srarar e Wie ot fog W @t SR @ W @:

1. 12 months/12 HIg
2. 14 months/14 HIg
3. 10 months /10 HTE
4. 6 months/6 Hlg

Correct Answer :-

« 6 months/6 Hlg



37) Which among the following does not have vaccine?/ 378 9 fFa®! dwi 18 &2
1. Polio/ Tiferay

2. Obesity/ HreTar

3. Whooping cough/ el Gt

4. Tetanus/ fce9

Correct Answer :-

« Obesity/ Hretdr

38) Which of the following factor is not responsible for malnutrition in children:/ Eﬁ'@ﬁﬂ-‘m W,Eiﬁﬁgﬂﬁwa?ﬁlt{
FRer g &2

1. Biological/ s

2. Environmental/ gafaRuiig
3. Economic/ firaendit

4. Beauty/ azdl

Correct Answer :-

« Beauty/ gaxd

39) Which of the following factor responsible for the intrauterine growth retardation (IUGR)?/ wfsrcr%wq@ St
TS WM (S2TYRTE 1Y &R, 1UGR) F 1T 578 | $19-91 $1RS SwRard! 82

1. Maternal under nutrition / TTdT &1 Y ¥ HH Uo7 a1
2. Drugs, alcohol or cigarettes/ ATge® Uer, Tedbisd a1 ke
3. Gestational diabetes, high blood pressure or heart disease/ WW@?H@%’, R ECSEICE EEER' T

4. All of the above/ B'CRiT:R‘IHlﬁ

Correct Answer :-

« All of the above/ Iujad Taft

40) Main difference between the symptoms of kwashiorkor and marasmus is:/ BIRIRDIR Gﬁ?ﬁ?mﬂaiﬁ&rﬂﬁﬁﬂ'@ IR &
1. Muscle wasting/ s &g

2. Diarrhea/ TIgUN (%)

3. Oedema/ TSHT (AR UHA 1 ¥ 3T o)

4. Irritability/ forsfersma=

Correct Answer :-

« Oedema/ TS (AT Th EH ¥ IUH o)

41) Which of the following statement is incorrect about the colostrum?/ Tﬂ'{ﬂ%ﬁﬁﬁgﬂﬁﬁﬁ?—ﬂﬁmﬂﬂﬁ%‘?
1. It is rich in protein/ 3% WA &1 3= AT 811 &

2. It contains an interferon like substance which possesses strong antiviral activity/ 98 eI ST T Terd giar 8 o wifdazmet
fasTuRYeR 1T g &

3. Total fat content of colostrum is more than the mature milk/ 9N & T80T &1 Hd AET a1 7 3 a1d A & gU ¥ 31w gl 8
4. Colostrum is the first immunization to the infant/ TRIY ¥ FawiTd XS] &7 Ugen ufeRefedur giar 8
Correct Answer :-

« Total fat content of colostrum is more than the mature milk/ /Y & 391 31 Ho A 91 & 3 910 A & g4 I 31w gt §

42) Which of the following is not an airborne disease?/ ¥ q $I9 U arg-arad I97 81 82
1. Chickenpox/ EECY

2. Influenza/ STURIEST



3. Diarrhea/ ¥Ugft (G%)
4. Anthrax/ Q@Tﬁ[
Correct Answer :-
« Diarrhea/ ¥Ugtl @%)

43) Angular stomatitis, glossitis and cheilosis are deficiency symptoms of:/ ﬁ“ﬁqwmm, ﬁlET‘\’ﬁ?I
(araTgieH) o sgfaear @A) @t w i & aawr §:

1. Vitamin A/ eI A
2. Folic Acid/ Wifeie i
3. Riboflavin/ JgawIfaT

4. Iron/ 3IARA

Correct Answer :-

« Riboflavin/ JgatRifa

44) Which vitamin plays important role in vision and immunity?/ aﬁq.mﬁeﬁqﬁsﬁwﬁ?&nﬁwmﬁw %?
1. Vitamin B6/ faeTf& B6

2. vitamin ¢/ fderfim ¢

3. Vitamin A/ faeTfiT A

4. Vitamin K/ faeifim

Correct Answer :-

- Vitamin A/ faerfiT A

45) Which mineral helps in maintaining the bone strong?/ aﬁmm@ﬁas%ﬁaﬁwmmﬁﬁmm%?
1. Calcium/m

2. Iron/ 3MIARA

3. Sodium/ HIfeaH

4. Zinc/ TS

Correct Answer :-

« Calcium/ Sfezmay

46) Which vitamin is soluble in water?/ aﬁ-—r.mﬁah-—rwﬁgamﬂa%?
1. Vitamin A/ f3erfém A

2. Vitamin D/ faeif®= D

3. Vitamin E/ faeTff E

4. Vitamin B/ fgerfim B

Correct Answer :-

« Vitamin B/ faei®= B

47) National Iodine Deficiency Disorder Control Programme (NIDDCP) is being implemented by the Department of
Health, Government of India in year:/ 814 SMAISH a1 faeR fra=aur $1d%H (NIDDCP) PT SATaT WIRA fIHTT, HIRT TSR
BRI o = YT B

1. Since April 1970/ 30, 1970 ¥
2. Since April 1982/ 30d, 1982 ¥
3. Since April 1992/ 30d, 1992 ¥

4. Since April 1998/ 31, 1998 &

Correct Answer :-



« Since April 1992/ 3f1d, 1992 &

48) Which of the following factor is not a risk condition for both mother and foetus?/ Fﬂ?{ Pl PIRb, HIAT R TRy

gy, g & fore wifam fRufa 7t @2

1. Under-weight/ HR I ¥ &H gIHT

2. Maternal Age below 15 years/ ATl &1 31 15 a9 J &H g

3. Maternal Age between 25-35 years/ Tl BT 3(1g 25-35 ay g

4. Many Closely Spaced Pregnancy/ §§d &H 3=RTal TR §R-gR THad g1

Correct Answer :-

« Maternal Age between 25-35 years/ Tl BT 3{1g 25-35 g g

49) Which of the following is not an objective of ICDS?/ sﬂﬁﬁﬁ?ICDS Cal WG%‘QHT@‘T%"
1. Immunization/ UfcReft@w0r

2. Supplementary nutrition/ WUTEFUT

3. Health checkup/ WY WY

4. Diabetic Nutrition/ TYHERIT GIe0T

Correct Answer :-

« Diabetic Nutrition/ AYHgRIT TIYOT

50) Protein energy malnutrition is due to ‘food gap’ between the:/ & o1 ey srawTI (l}\ﬁﬂ'q)’ F SR WIEH-SHell

DU I BT &:

1. Carbohydrate and protein/ ®TagZse Td WIeH
2. Intake and requirement/ 30T U4 STTHAT
3. Carbohydrate and fat/ ®Teg/3ae g 4T

4. Fat and Protein/ 991 Td Ul

Correct Answer :-

. Intake and requirement/ 3f<RigUl Td 3TTRTHdl

51) Which disease are not protected by vaccination under Universal Inmunization Programme:/ Ird4ifiie ufareiiso
PwH & Siavia 39 F o A & favg TRemr T o man 82

1. Diphtheria/ fSw®iifwan

2. Polio/ Tiferat

3. Hypertension/ S=R&dTY

4. Tuberculosis/ & AT (CTRFANAT)
Correct Answer :-

« Hypertension/ 3=Rdddg

52) Which of the following is not a common symptom of pulmonary tuberculosis?/ sﬂﬁﬁﬁﬂma?aﬁ?@?ﬁﬁlﬂﬁ@
SITH AEI0T TEY 32

1. Wasting of tissues/ &d® &3

2. Fever/ §UR

3. Cough and Expectoration/ @i} 3R SerTH ST8x 31
4. Hypertension/ S=RaddIq

Correct Answer :-

« Hypertension/ 3=Rdddq



53) Harmful substances such as drugs or radiation that invade the womb and result in birth defects are called:/ Tyl

T YA HIP TSI oY SIS B T uerdf, S At ygraf ar fafproranfe sl werwmars:
1. Teratogen/ fa=ueH (&1etomM)

2. Carcinogen/ FIoH (Hﬂﬁf‘*ﬁ@?)

3. Pica/ UTghl

4. Nutrition/ G901

Correct Answer :-

« Teratogen/ fa=goH (@1Eom)

54) Which of the following is present in thyroid gland hormones?/ gﬂ'ﬁﬁﬁﬁ um‘fgsuﬁr%s‘fqﬁﬁ B’@ﬁﬁﬁﬂ%"
1. Calcium/ P

2. Fat/ 941

3. Iodine/ 3MAISH

4. Iron/ 3IARA

Correct Answer :-

« Iodine/ 3MAISH

55) The practice of eating chalk, dirt and clay during pregnancy is known:/ ﬂﬂh@ﬂﬁﬁﬁi igaah‘@aﬁaﬁ 3ed &I

Hed ¢

1. GDM

2. Pica/ UTghT
3. PIH

4. NIDDM

Correct Answer :-

Topic:- General Knowledge and Logical Ability

1) Which of the following is a poverty alleviation programme for women?/ Flﬁ EEar) Higarsit %ﬁ Th Tt A ﬂi'l'!f'cb‘q%"
1. ICDS

2. JRY

3. MSY

4. DWCRA

Correct Answer :-

« DWCRA

2) A boy travels 8 km towards South from a fixed point, then turns right and runs another 9 km and again turns to the right and runs another 5 km.
In which direction does he faces now?/ wwwﬁﬁaﬁgﬁmaﬂeﬁvsﬁﬂﬂaﬁgﬁmm%aﬁvaﬁeﬁ?wgﬂ: 9ﬁﬂﬂaﬁgﬁaum%
3R AR | 1S 3R geo 5 5t 3t g8 au Fa1 8| o SuHT 4@ fbd fRmm # &2

1. South/?{f\&‘IUT
2. North/3acR
3. West/qfﬂﬂ
4. East/fgf

Correct Answer :-
¢ North/3«R

3) How many State Resource Centres for Women (SRCWs) are functional under the National Mission for Empowerment of Women? / IT§Id afget
iz & sierta foran afgen wsa TJameq $g (Re Rk dex BR 909 a1 go.eR.i.ssq,) Il 22



Correct Answer :-

e 24

4)
DIRECTIONS: What should come in place of the question mark (?) in the following letter series?/ fd=n: frafifad srer Joft & wearme e (2) F A R Fw
STET?

a, e i,0,u,u07?¢ a.

Correct Answer :-

5) Majdoor Manjil started in the:/ AeigR T @t Yaa Fafirfad & g8 i
1. Sevagram experiment/ JaRIH T

2. Nilokheri experiment/ :ﬁFﬁ@—sﬁlﬁﬁT{

3. Marthandam experiment/ Tf=H TaRT

4. Gurgaon experiment/ T[S TINT

Correct Answer :-

« Nilokheri experiment/ RIS @3 anT

6) At what rate of interest will a sum increase by 36% in 3 years at S.1.?/ mmwwaﬁaw 3 a‘ﬁfﬂ'iﬁ.’lﬁ YRR

36% T¢ SITWI?
1.12%
2.15%
3.18%

4. 36%

Correct Answer :-

e 12%

7) Kasturba Gandhi Balika Vidyalaya scheme was implemented in the year:/ ®xRdl it arferepT faemera gieT @1 Srafaa af _ ¥ forar war ot
1. 2004

2. 2009

3.2014

4. 2016

Correct Answer :-

« 2004

8) Which one of the following diagram represent the relationship among students, singers and dancers?/ e d B @ IR anﬁ, ﬁﬂm, RipEat
3R TP & AH T P T 82




2lelie

Correct Answer :-

9) Printer and scanner are examples of:/ fifex ok R & IR0 %
1. Input devices/ STYC IUDBRUT

2. Output devices/ 3T3CYC IUHRT

3. Digital devices/ f&fSree Sua=u

4, Micro-devices/ TTSSh1-3UHRUT

Correct Answer :-

¢ Output devices/ 3T3CYC IUHIUT

10) Which hormone is released from testes:/ JUUN ¥ BIHT GTHIA AIfAd Biel 8-
1. Testosterone/Sw R

2. Estrogen/ TS

3. Progesterone/ ToRexH

4. Relaxin/ RafR

Correct Answer :-

. Testosterone/é%?f éq Bl

11) The average of 6 consecutive odd numbers is 8. Find the largest number./ 6 TTAR foww T=mai &1 oftad 8 %I'\‘Iﬁ Tsl?ﬁ
W@ T B |

1.13

2.15

3.18

4.12

Correct Answer :-

« 13

12) Oral contraceptive pills help in birth control by:/ T&g MRy Mt ¥ gr1 MR & Aeg wvet 71
1. Killing sperms/ W\’rﬁ?ﬁﬂ'@

2. Killing ova/ 308 IR &1 AR

3. Preventing ovulation/ S A

4. Forming barrier between sperms and ova/ w\?ﬁ 3R 3(Ug HIRBT & o a1er s

Correct Answer :-

« Preventing ovulation/ 3fSIe I



13) Who will be the Nodal Ministry for the implementation of Beti Bachao Beti Padhao Scheme? / 3¢ 9213 31 Ugr3i IIeT & Sraf<d & foe A
AT 14T 112

1. Ministry of Health and Family Welfare / T4 3R URGR FHeanr HaTeH
2. Ministry of Human Resource Development / AFd e A& e
3. Ministry of Women and Child Development / Afg @l Td a1dt fder Hared
4. Tt will be done jointly / I8 ¥gad ¥4 ¥ fawar Smem

Correct Answer :-

« Ministry of Women and Child Development / Afgd Td a1d A& Hamaa

14) An outreach officer of the court who can help a woman in making complaints and filing an application before the Magistrate is known as:/

AT ¥ 39 S (Hh) e B 71 Fea & st Riemad 31 ik afmee & e smded ool B # afdarsil 1 Heg w2 awdl &
1. Police Officer/ GferT SifIeRY

2. Protection Officer/ JR&T SIIHRY

3. Service Provider/ SdT YTl

4. Perpetrator/ ot

Correct Answer :-

« Protection Officer/ gR&T SAHRY

15) ‘Digital India’ was implemented by:/ frea 'sf%'QT' Ed| W&nﬁw ot &t
1. Manmohan Singh/ e Rig

2. Narendra Modi/ s Tid!

3. Rajiv Gandhi/ Irsfig e

4. PV Narasimha Rao/ U} dt RRywer 3@

Correct Answer :-

« Narendra Modi/ “R% et

16) 18 men can complete a piece of work in 12 days. In how many days will 9 men complete the same work?/ 18 oW

TS T Y 12 f&A # 1 o~ Tod 8] 3t B 3 9 7oy fpa foml & @y v
1. 16 days/16 fad
2.18 days/18 feat
3.13 days/13 f&a
4. 24 days/24 feq

Correct Answer :-

. 24 days/24 fea

17) B is brother of D. D is sister of E. E is brother of F. How is F related to B?/ B, D T 4TS @1 D, E @1 981 &1 E, F &1 4TS 21 F, B 9 frd R aw=fia

1. Brother/¥TS

2. Sister/dg

3. Brother or Sister/HIS a1 §8=

4. Data inadequate/SIcT i
Correct Answer :-

« Brother or Sister/HT$ 1 §g

18) At what speed does a man walk, who passes through a distance of 1500 meter long in 3 minutes?/ 1500 Hiex &1
8 3 3 e ® 7 7 & g st ot ara « gt

1. 25 Kmph /25 foet ufa €
2. 20 kmph /20 f& ufa g
3. 15 kmph /15 T gfa g



4. 30 kmph /30 &t ufa e

Correct Answer :-

« 30 kmph /30 fee ufa e

19) RAM in reference to computer stands for:/ R F gt d (RAM) BT R HTH%:
1. Random Awareness Memory/ YeH Ty AE

2. Read All Memory/ s offa A

3. Read Any Memory/ 38 Tt At

4. Random Access Memory/?%ﬂ mﬁ'ﬂﬁﬁ

Correct Answer :-

« Random Access Memory/¥SH Tag AHRT

20) ‘Ctrl + A’ depicts:/ ‘Ctrl + A’ YefRfd 3 &:
1. Cut/ He

2. Select/ Yaae

3. Paste/ ey

4. Save/ I

Correct Answer :-

« Select/ Jdae

21) The revolution started for food grain increase during 1966-67 was:/ 1966-67 * aTI'—l Ererd Scdled %T;[ RYY B Tt wif ot
1. Yellow/ d¥d

2. White/ &d

3. Green/ gRd

4. Blue/ et

Correct Answer :-

« Green/ 8Rd

22) Which among the following does not manufacture digestive juices?/ ﬁﬁﬁmﬁw WA I &2
1. Liver/ I&d (faR)

2. Kidney/ 9% (T[&f)
3. Stomach/ THRII

4, Pancreas/ &R

Correct Answer :-

« Kidney/ 3@ (a0

23) DIRECTIONS: In question given below select the related letters from the given alternatives./ ﬁ%‘w: = ﬁ'l! Rl K ) ﬁ'ﬁt{ g fomeul & @ Hafta
3&RY B AT |

JLNP : OMKI : : SUWY : ?
1. MLKI
2. PLHD
3. XVTR

4. PGHI

Correct Answer :-

e XVTR

24) DIRECTIONS: Find the Mirror image of the given group of letters./ fIE=T: foT 7T =1} & wyg &1 quur yfafaa gra w31



A
VINAYAKA

B
1. INVAYAKA
2. AKAYANIV
5. AXAYAUIV

4. NIVYAAKA

Correct Answer :-

. AXAYAUIV

25) The headquarter of ICAR is situated at:/ ICAR &1 J&Ied ... ¥ fRd 8-
1. Bhubaneswar/%ﬁ’.ﬂ

2. Lucknow/ dG13%

3. Patna/ gcHl

4, New Delhi/ 78 et

Correct Answer :-

« New Delhi/ 71"5 fewt

26) The fourth international women'’s conference was held in:/ QYT GI-—vR'f@TI Hfgar T ¥ smaifera BT UT:
1. Mexico/ RIS

2. Beijing/ SifoRT

3. Copenhagen/ PIGTIH

4. Nigeria/ -TgSian

Correct Answer :-

« Beijing/ SfSiT

27) The ratio of cost price and selling price of an article is 2: 3. The profit percent is:/@ﬂﬁﬁﬂ@ﬁwﬁﬂm 2:
3 & 3rgurd # {1 A1 ufer=ra ghm:

1.30
2.25
3.50

4. 60

Correct Answer :-

28) Count the number of triangles in the following figure./ = 3|17:Fﬁf ﬁﬁ'ﬂ\'xﬁ Y T J1d PN |

1.6
2.7
3.8

4.9

Correct Answer :-

« 8



29) MS Word is an example of:/ THEH a8 T TP IGIET0l ¢
1. Application software/ Gﬁﬂ'thﬂ (Ef@lﬁm’—f) TlredmR

2. System software/ ReH TiredR

3. Operating system/ STORfET Rew

4. Translating programme/ Siﬂﬂ'l?:{ﬁ‘:m?[

Correct Answer :-

« Application software/ G{ﬂmﬂﬂ OI@WH) HiedR

30) Krishi Vigyan Kendras transfer technologies to:/ qiﬁ ﬁErFT o I &) Henfiifeal 1 3R Eﬂ'ﬁ%
1. Farmers/ framr

2. Farmwomen/ Iﬂ%?ﬂ gt

3. Both of the above/ IR GHT

4. None of the above/ STRIE & ¥ ®1g T

Correct Answer :-

« Both of the above/ IR SHY

31) The ratio of A to B is 4: 5 and that of B to C is 2: 3. If A is 200, then C is:/A &T B & 3/UId 4: 5 § IUT B &T C A 3UTd 2:
3%13fe A, 200 F RS & @ € fpam & TRTaR BI:

1. 100
2.200
3.375

4. 400

Correct Answer :-

« 375

32) Tiny finger like projections in the small intestine are called:/ B SAfd P ﬂ%’f&l’{[ﬁ‘lﬁﬁﬁa’m _ﬁﬂ'l’?f%'l
1. villi/ geaigR ()

2. Anus/ &l

3. Rectum/ HAR™

4, Bile/fU
Correct Answer :-

« Villi/ &R (Aams)

33) Which of the following schemes emphasizes more on children in need of care and protection, juveniles in conflict or contact with the law and
other vulnerable children? / 7 & 3 SR G & arurdf g1 A W S8 ufrufadt & 789 aTa TR Td TR FT maxgdar ard aur fafty faarfea v
Theuwd = 82

1. National Child Health Program / @HWWW

2. Integrated Child Development Services / TH-Id STdt fder TierT
3. Integrated Child Protection Scheme / TAfHT ST TREJOT o1

4. None of the above / IR o ﬁaﬂé Bl

Correct Answer :-

« Integrated Child Protection Scheme / TRIf&d aTer TREMOT AT

34) The computer cannot perform any job without a:/ ™Y ¥ famm Tﬁg P A8 B FHdl %:
1. Chip/ fom

2. Programme/ ol e

3. Memory/ R

4. Output device/ il o= (8f3cyc %HTSTD



Correct Answer :-

« Programme/ i ]

35) The most important function of education is:/ fRrem &1 m'ﬁ?ﬁ'@f g %:
1. Economic development/ 3T faema

2. Human resource development/ T Sa1e_ P1 faer™g

3. Industrial development/ e e

4. Political development/ IS faer

Correct Answer :-

« Human resource development/ AT T &1 fAH™T

36) The National Policy on Education was formulated in the year:/ ?Tg']'q e Afa o1 ﬁiﬁfﬂw ad - o o v or:
1. 1983
2. 1984
3. 1985

4. 1986

Correct Answer :-

« 1986

37) DIRECTIONS: Study the following table carefully to answer the question given below. /{33 fFafaf@a grRolt &1

AT 3 B A fad 1 vy &1 ¥R iR

The table represents the total number of students studying courses P, Q and R across three institutes A, B and C./

IR # 9 TR A, B 3R ¢ & o9 wreusal P, Q 3R R ¥ rera=Rd faenfay @9t W= &t guifar mam 71

Institutes/FEUTe
Courses/9Tods$H
A | B C
P 430 | 210 | 590
Q 350 | 280 | 570
R 370 | 480 | 380

What is the total number of students who are studying course R across all institutes?/ﬂiﬁm%m R#
SR faenfat @t wen @ g2

1. 1480
2.1230
3.1420

4.1540

Correct Answer :-

« 1230

38) Mechanical digestion begins in the:/ if~re U BT 3R . ﬁ'z?ﬁl‘l %I

1. Mouth/ &

2. Stomach/ 3THR™

3. Small intestine/ BYeT 3fid

4. Large intestine/ ¥81 3fid

Correct Answer :-

« Mouth/ §9

39) Janani Suraksha Yojana was a scheme for:/ S '\ER&-I'HI‘I\':HT _%7 ‘i%l'l';r mﬁnﬁwu‘lﬁm A
1. Education/ fem

2. Mother Care/ H&X PR



3. Urban Development/ ¥ 6'\5 faer
4, Rural Development/ JTHI0T fdsRT

Correct Answer :-

« Mother Care/ HaX PW

40) In a certain language ‘CLERK’ is written as ‘EOIWQ’. How is ‘TABLE’ written in that code?/ fhaft Withfa® HINT & ‘CLERK’ 1 ‘EOIWQ’ forar Sirenm 8
| ‘TABLE’ &1 I3t HruT § $4 forar smemm?

1. VCDNG
2. VCDGN
3. VDFQK

4. VDFOK

Correct Answer :-

41) The presentation package and slides are prepared by:/ L‘Rﬁﬁﬁﬂm TP 3R WI%’S‘[ Ea| GRT AUR far o 8:
1. Power pointﬂﬁ?ﬂ UT's"c*

2. Excel/ TR

3. MS Word/ THTH 98

4. All of the above/ Iugad Tit

Correct Answer :-

« Power point/TiaR dfse

5 5
) \What is the 50% of 20% of 3 of 36002 /3600 BT 3 BT 20% BT 50% FHd-T 22
1. 480
2.570
3.600
4. 740

Correct Answer :-

« 600

43) Which of the following is a male sex hormone:/ Eﬂ'ﬁ EEar) Th TR U BTHIA &

1. Insulin/ S
2. Aldosterones/ Q@- A

3. Androgen/ g
4. Pheromones/ HHT

Correct Answer :-

« Androgen/ TgIoH

44) ATMA stands for:/ ATMA &T RT =|TFI%:
1. Agency of Training and Management in Agriculture/ Toiil TR 2T U8 BAvTie 57 e (HR UR1&mr T et 3ifiesRon)

2. Agricultural Technology Management Agency/ TicbeeRa arietioll Hretiie ol (Hf Tieifient Teier sifiyesRon)

3. Assessment Transfer and Monitoring Agency/ 3ERTHE TRITER TS HIMEIT Tkl (3dhe SaR0T Td AR S1fiasvur)
4. Assessment Training and Management Agency/ 3gHe 2T T8 v ToiT (Hfder UiRIeMT Td Uaer Sifiiemun)

Correct Answer :-

« Agricultural Technology Management Agency/ Tl eaRd CaRTaTsl H-orie Toi! (BT Tenfiet veer sifiyaon)



DIRECTIONS: What should come in place of question mark (?) in the following question?/ fad=r: frufafaa vy ® uyars
fare (2) & RIA W T 3T fRe?

[(8)2 x (15)2 + (24)%] =2
1. 28
2.64

3.26
4. None of these/3TH ¥ &g Tl

Correct Answer :-

« None of these/39H q ®Ig gl

46) Emulsification of fat is carried out by:/ 99T $T SHEHISRUT _____ gRI ST 21
1. Bile pigments/ fo=T auiet

2. Bile salts/ O waoif

3. HCI

4. Pancreatic juice/W&’Rﬂ RS

Correct Answer :-

« Bile salts/ IEGASELLI

47) Which of the following is the world's largest and most unique and outreach programme? / g & @ S aer fay &1 '\qﬂTﬁ_T t’ﬂ'm 3R
BTIHH 7?2

1. National child health Program / 181 1 WA HRIHH

2. Integrated Child Development Services /WWWW
3. Integrated Child Protection Scheme / TRfdd ST TREUT AT

4. Kishori Shakti Yojana / = wife dien

Correct Answer :-

« Integrated Child Development Services / THfId STdt fAeT Ao

48) The largest gland in the body is:/ Wd IR # Tad 71 iU 2:
1. Pituitary gland/ 9Ry IfY

2. Pancreas/ STAR™

3. Liver/ I%d (1aR)

4. Adrenal gland/ Sifiqa® 4R

Correct Answer :-

« Liver/ 3% (IaR)

49) Which answer figure will complete the pattern of the question figure? / e %3 o @ IR &Wﬁu&l Sfquﬁfiﬁ Eﬂf Haft?

Question Figure /U297 TE{d  Answer Figures /5T7 A

\\
&) TR

@ o © @

(x)




Correct Answer :-

50) DIRECTIONS: Select the one which is different from the other three responses./ ﬁf&T: 39 fapey &1 9g= 33 S 3 91 fapedt @ i %l
1. Camel/ 3¢

2. Horse/ ‘EI“IET

3. Bullock/ S

4. Cat/ foeeit

Correct Answer :-

. Catjﬁc_vﬁ

51) Central Social Welfare Board at present is functioning under the administrative control of:/ T § P JHTS HoaTr SIS & IS I
o= & e &l B @I R

1. Ministry of Social Justice and Empowerment/ TTATTS <1 T8 SAGTRAT HAG
2. Ministry of Human Resource Development/ TTd S fdw™T Hamed
3. Ministry of Women and Child Development/ Tfgdl Ud aTd fasRT HAe

4, Ministry of Tribal Affairs/ SFSTIia T HATT

Correct Answer :-

« Ministry of Women and Child Development/ Afg@T Td a1 fdem Hated

52) Multimedia is a:/AecHifeaTos &
1. Technology/ Teifiast

2. Software/ THCATR

3. Media/H\f&ar (H1eam)

4. Popular computer game/AdH T FHTEER T

Correct Answer :-

« Technology/ TNt

53) Till what age does the National Child Health Program aim at intervening and identifying defects at birth, deficiencies, diseases, development
delays including disability? / Y9 aTa FaTRA STEFHH TR arHTia & e af $Y 99 qo faeeimar wfya o, aﬁw I, e facia & wror fRwaiTa
B UgHIF T4 gAY B BT 94T T4 82

1.6
2.12
3.15

4. 18

Correct Answer :-

. 18

54) DIRECTIONS: What should come in place of question mark (?) in the following question?/ ﬁ'&-‘\’l: frafafea ua &
UYATaS 2 (2) & R W FGT 3111 A2

1800 7 9%2 =7



1. 400
2. 200
3.100
4. None of these/3TH q HIs gl

Correct Answer :-
« 400

55) Central social welfare board was setup in October: /=Rl HHIST HeaT0T N T T gy T oY Wt ot
1. 1951
2.1953
3.1955

4. 1957

Correct Answer :-

e 1953

Topic:- Managerial Skill

1) Google and yahoo are:/ TR ATE__ &
1. Search engines/ @S $5

2. Operating system/ 3{TRfeT Rieew

3. Input devices/ gTYc SUHRTT

4. Control units/ erd gHe

Correct Answer :-

« Search engines/ @ISl 3519

2) Chairman of Niti Aayog is:/ -t 3TaART & 3remes §:
1. President/ IrgUfd

2. Governor/ Jsgurd

3. Finance minister/ fa< @zt

4. Prime minister/ UHTTH

Correct Answer :-

« Prime minister/ T

3) Classification of extension method into individual, group and mass is based on:/ fawR faf¥ &1 =fe, Tyg vd wdo &
ifeeor TR e &

1. Form/ =0

2. Use/ SUGRT

3. Number of people contacted/ Tafia safeaal @t Tam
4. Periodicity/ Sfrafiiedr

Correct Answer :-

« Use/ 394

4) Five year plan is a:/ Ugayig g1 Th T
1. Perspective plan/ uftdied T

2. Medium term plan/ AEOH-BI1e® T

3. Adhoc plan/ d& areT



4. Contingent plan/ 3T& &I GroiHT

Correct Answer :-

« Medium term plan/ A&IH-SH1Ad® JrorT

5) Monitoring is done at the end of a:/ & 3= # foRT= 1 o7t &:
1. Programme/ DA

2. Project/ RS

3. Both of the above/ STRIad Gl

4. None of the above/ mﬁ@fﬁﬂﬁf

Correct Answer :-

« Both of the above/ STRIad Gl

6) The first KVK of India was established at:/ HRa » Tgad P g ds st ®=gAr . dgs
1. Pondicherry/ BIEER

2. Lucknow / @d13

3. Pantnagar/ Ud"R

4. Allahabad/ 3dIgIdTq

Correct Answer :-

« Pondicherry/ TifgeR

7) Communication is an organization flows:/ fFRII AN TER _ WaE HA1 8:
1. Downward/ 9 & 3R

2. Upward/ SR &1 3R

3. Horizontally/ afos fe=m &

4. All of the above/ G‘q?j'cl?lﬂlﬂ

Correct Answer :-

« All of the above/ Iudad gt

8) Chronological order of activities is otherwise known as:/ Wﬁfﬁﬁl‘*ﬁ%mﬂﬂﬁ_ ot wga %
1. Plan of work/ &Td &1 TieHT

2. Content of plan/ Ao &1 f[ao-a%]

3. Calendar of activity/ Tfafafd iR

4. Programme of activities/ nfafafery &1 Hrfwy

Correct Answer :-

« Plan of work/ T &1 AreFT

9) A person who steps up in times of crisis, and is able to think and act creatively in difficult situations is a:/ g =fad

S e & Tug § T e § ok wfea uRfRufadt & eareta &1 € Wi 9 ol e & wad grar €, 1 Searar 8?2
1. Master/ AR
2. Boss/ a9

3. Leader/ Jar
4. Successor/ ITRIU® 3

Correct Answer :-

. Leader/':IFIT



10) BR Mehta team stimulated an active consideration of which of the following through democratic bodies in India:/

R ATdT G A YR H Apart~e el & Arerd A 579 | frasd wftry fammo &1 Set fear ar
1. Decentralization/ Ao

2. Stabilization/ RSB0

3. Centralization/ FaI®xUl

4. Mobilization/ Tberd

Correct Answer :-

« Decentralization/ fa&=®=or

11) A Blue print for action is:/_ﬂ)‘l’ﬁﬁ)‘[ﬁfﬁ?ﬁm/?ﬁ %:
1. Plan/ TISHT

2. Programme/ PDHH

3. Project/ afRa@ismT

4. None/ s gt

Correct Answer :-

. PIan/thTrHT

12) A rolling plan is plan for:/ uaré’ru’tw_aﬁrﬁwa-cﬁ%
1.1 year/1 EL
2.2 year/2 %
3.3 year/3 EL

4. Year to year basis/ qY-az-ay YR

Correct Answer :-

« Year to year basis/ qY_ar-ay TR

13) A Co-operative society is an example for:/ wmwﬁﬁ_mm%
1. Formal group/ WW

2. In formal group/ TS THE

3. Primary group / W4l 95

4. Territory group/ UTGRI® Tg

Correct Answer :-

« Formal group/ 3T T4g

14) The gap from where we are to where we want to go:/ Tl & 89 & W81 &H ST 918 & & o1 3T 3R &:
1. Planning bridges/ Ao ¥g

2. Functional bridges/ forard® g

3. Outline/ T

4. Rotating bridges/ ‘qph@g

Correct Answer :-

« Planning bridges/ZﬁTrFﬂ@ﬂ

15) A good extension programme should be:/ 3 fRaR sfFA H g1 =nfee
1. Flexible/ Sreiten

2. Rigid/ T

3. Both of the above/IWRiad gHt



4. None/ &3 gl

Correct Answer :-

« Flexible/ wrtan

16) In pa%ent education program, Video Films are used as:/ 3fHutas e iy d dfsa) el &1 Swa FETH
fopar wiTar 3:

1. Group approach/ GTJI%EFU@%

2. Individual approach/ Wt@ﬁ

3. Mass approach/ Fdo g

4. None of the above/ ITRIad § J HI3 Tal

Correct Answer :-

« Group approach/ SR Ugfy

17) An idea, practice or object perceived as new by an individual is called:/ f&=il aafd gRT T4 & TU d 3@ T fFdl fEr,
ST T axg Bl Fed &

1. Invention/ IfIsrR

2. Innovation/ HdER

3. Intervention/ §&Y
4. Noble idea/ g fa=uR

Correct Answer :-

« Innovation/ FdTHR

18) Community Development programme was having a basic objective of:/ WMWW WHRE[HB%‘ERI UT:
1. Food for people/ @l & o WieH

2. Development of people/ Al T AT

3. Growth of people/ @l H g%,

4. Education of children/ &= &1 fRigm

Correct Answer :-

« Development of people/ Al T I

19) Programme planning is a:/ Wﬁﬁm@_%z
1. Decision making process/ﬁﬂhaﬁﬁm

2. Creating process/ a1 Ufehal

3. Evaluating process/ Wm

4. Monitoring process/ TRt ufgean

Correct Answer :-

. Decision making process/ fufg o &1 ufsean

20) Basic unit of society:/ TUTS ®I ATYRYH HTs:
1. Neighbourhood/ WU@?

2. Group/ U¥g

3. Family/ gRaR

4, Community/ I4cd

Correct Answer :-

« Family/ gRar



21) The basic unit of development under IRDP is:/ IRDP%MW%%W%
1. District/ forem

2. Village/ g

3. CD block/ €l =il

4, Family/ 9RaR

Correct Answer :-

« CD block/ St il

22) Indicative planning started from:/ T®dTcH® o Bt [EATT Hd I gs:
1. Eighth plan/ 3T&dt Ao

2. Seventh plan/ gradt greHT

3. Sixth plan/ T3 Ao

4. Fifth plan/ gi=idl gieiT

Correct Answer :-

« Eighth plan/ 3Tt dreHT

23) Cone of experience was devised by:/ A IF HT MfaspR A fmar am:
1. Rogers/ ot

2. 0.P. Bhatnagar/ 3f1.4}. HeAR

3. A.A. Reddy/ TT. XS

4. Edger DaIe/EGRéFI

Correct Answer :-

« Edger Dale/ ToR €@

24) A small group comprised of:/ Bl UYg A e Ta1 @
1. 15-25 persons/15-25 Sfaadl

2.25-50 persons/zs-sowﬁ'@f

3.50-70 persons/50-703qw

4,70-100 persons/70-100 Afaaal

Correct Answer :-

« 15-25 persons/15-25 Sfaaadl

25) Planning commission has been renamed as:/ QST 3TENT B feaT war a4 = §:
1. Neeti Aayog/ =ife 3mamT

2. Neeti Commission/ Hifa wetEE

3. Neeti Mission/ i foRH

4. Neeti Yojna/ fifa A

Correct Answer :-

« Neeti Aayog/ fifa 3mimT

26) A person is called an adult at an age of:/ af FI g | Tl F) TP BT oIl @



Correct Answer :-

27) WPAN stands for:/ WPAN T QT 919 §:
1. Wireless Parental Area Network/ mmq 3T ead
2. Wireless Personal Area Network/ ITaRad U8-d TRAT Acad

3. Wireless Personal Arid Network/ aRAY TE-d RS Sedd

4. Wireless Physical Area Network/ aERaq ftpfore e aiam Aead

Correct Answer :-

. Wireless Personal Area Network/ araRed Ui TRAT Jeasd

28) Based on the recommendation of which committee panchayat raj institution was formed?/ fa afifa @t sz &
SR TR YT IToT AT BT TS T UT?

1. Ashok Mehta committee/ 3f=N1% Hgdl IiAfd
2. Hanumantha rao committee/ §H= X9 AfAfd
3. Dantwala committee/ Gara AT

4. Balwant Ray Mehta committee/ §@d=d I Hgdl 9Afd

Correct Answer :-
. Balwant Ray Mehta committee/ Sqd~ I HedT A

29) By whom the first line system of extension in India is controlled by:/ YRd A fIwR &7 ugdn 31 a gt fraf<e

1. ICAR institutes / SAUs/ ICAR §RIHI / SAU

2. Ministry of agriculture, GO1/ HY T=TeR, HRA IRBR
3. Non-government organizations/ RIBR] A1

4, Private extension agencies / foft fowaR waif¥mat
Correct Answer :-

. ICAR institutes / SAUs/ ICAR T®IHI / SAU

30) Community Development Programme was started:/ Wmﬁa?ma?m_emmgsn r:
1. Before independence/ Waadl 4 ugd

2. After independence/ ¥ad-ddl G4

3. During independence/ WIAdl P SR

4. None of the above/ SREH T ﬁ*‘qp:@

Correct Answer :-

« After independence/ Id-ddl F T e

31) An out of school system of education of rural people:/ ITHUr TN & e F v faemay F a8 3 ugfa:
1. Extension/ fa=R

2. Management/ U&td

3. Participation / S8R

4, Communication/ IR

Correct Answer :-

« Extension/ fdwR



32) Printer is a/an:/ iR &

1. Input device/ faf® a1 (37ge f&amw)

2. Output device/ e T (33 e fearsw)
3. Search engines/ @ISl 3519

4. Operating system; 3fToRfeT Ren

Correct Answer :-

« Output device/ 0 7= (33eye fEarsy)

33) NABARD is a bank for development of:/ =|1Tsl'ltsr', a?ﬁih‘mw%%:
1. Housing/ 3Td¥
2. Education/ e

3. Agriculture/ $Y

4. Construction/ ¥d-

Correct Answer :-

« Agriculture/ $f

Topic:- RC_Managerial Skill

1) DIRECTIONS: Read the passage and answer the questions that follow./ 31 frrafaf&a i & w-gd® ygas 39 =
o0 T ggfasedt wxAl & O ey &1 999 $¥)

A computer is a general purpose device that can be programmed to carry out a set of arithmetic or logical operations
automatically. Since a sequence of operations can be readily changed, the computer can solve more than one kind of
problem. Charles Babbage was an English polymath who gave the concept of a programmable computer. A computer
network or data network is a telecommunications network which allows computers to exchange data. In computer
networks, networked computing devices exchange data with each other using a data link. The connections between
nodes are established using either cable media or wireless media. A local area network (LAN) is a group of
computers and associated devices that share a common communications line or wireless link to a server. Typically, a
LAN encompasses computers and peripherals connected to a server within a small geographic area such as an office
building or home. A Controller Area Network (CAN) is a vehicle bus standard designed to allow microcontrollers and
devices to communicate with each other in applications without a host computer. A metropolitan area network
(MAN) is a network that interconnects users with computer resources in a geographic area or region larger than that
covered by even a large local area network (LAN) but smaller than the area covered by a wide area network (WAN).
A computer network that spans a relatively large geographical area. Typically, a WAN consists of two or more local-
area networks (LANs). Computers connected to a wide-area network are often connected through public networks,
such as the telephone system. They can also be connected through leased lines or satellites./

PIER TP WU TEIST arel I gidT ¢ o) Tarierd ©U & &g i a1 arféhe |frane w3 & fog winfira fan s wwar 3 159(%
Tforaral & SMIHH &) AT T dvil A TeaT ST GHdl 8, 37d: PHER TH A AP YHR Bt THWTE 56 TR Thdl ¢ Iared das U SHi
ggfamht-fagr & ReiR vl 8 I a1 FregeR B SquURT Ry $t 2f [FTeR HOTd (Aedad) a1 el TuTd TP gran Turd

R PH P Aeadh) BT & o FIER] I 32T & SATSH-YGT Bt JIAUT 3T 2 1HTHR TWTdl §, WATierd HIfET T U 3T i &1
IUGHT TP TH-gAY & 1Y ST T ATGMH-UGH $a ¢ 1SRRI (8) F 9 & SaxH, Fad AT 971 IqR 1T S SUGRT gRT R
5 WITa € It a Uit Aead (LAN), TR SR Tawg Il 31 Uh AYE giaT ¢ e dia Ue |Iei TuR arg a1 9aR a9 ot 9aR e gidt
R13MHAR |, a9 (LAN) 5t B Wi &=, 92 fosh wrateag vaq a1 R F SR fhd Tk @ e Frges) ik ufvsdiy a=ai | fraes
4T g IPheler TRAT Aead (CAN) TP a1 89 AT & T §IRe Hrgex fagi= Sy # Argshidelar) 3N¥ Il &) MUy # TaR B &
giaem 3 9 =D A feoirs far wan § ASiferes oiear Aead (MAN) T IoTTd (Aead) @ &l faxma died Tiar Aead (LAN) @ 93, R a138
TRAT Aead (WAN) @ Bie HRie &= # Sudtadrsi &) Svgex Q1Y & SaHATSd BT ¢ 1T SR Aead wl A&THd 98 HIf® &
# T BraT 8 18R W, 39 (WAN), 31 T7 3T i ufvdr Aead! (LAN) ¥ Frae? a=7a1 & 19158 Thiar Acad @ 98 $7ge? UIa: qrdeii—ie
Aead!, 99 TG Fien, F A1enw A 92 84 § 1S oivs argHl a1 Suuel & Areaw | ot ST o qehar g1

An English polymath who gave the concept of a programmable computer:/ e 3RW sgfawdl-fage 2 frgia uhnfire
B TP a8 PGSR B SAURT W $1 A

1. Charles Darwin/ ey gifd
2. Charles Babbage/ CIRECE
3. Westley/ a%cd
4. Leagans/ g
Correct Answer :-

« Charles Babbage/ e S



2) DIRECTIONS: Read the passage and answer the questions that follow./ &1 fufefaa meiwr &) earyds ugas 39& 9
o0 T ggfaswedt wxel & O fywew &1 a99 ¥

A computer is a general purpose device that can be programmed to carry out a set of arithmetic or logical operations
automatically. Since a sequence of operations can be readily changed, the computer can solve more than one kind of
problem. Charles Babbage was an English polymath who gave the concept of a programmable computer. A computer
network or data network is a telecommunications network which allows computers to exchange data. In computer
networks, networked computing devices exchange data with each other using a data link. The connections between
nodes are established using either cable media or wireless media. A local area network (LAN) is a group of
computers and associated devices that share a common communications line or wireless link to a server. Typically, a
LAN encompasses computers and peripherals connected to a server within a small geographic area such as an office
building or home. A Controller Area Network (CAN) is a vehicle bus standard designed to allow microcontrollers and
devices to communicate with each other in applications without a host computer. A metropolitan area network
(MAN) is a network that interconnects users with computer resources in a geographic area or region larger than that
covered by even a large local area network (LAN) but smaller than the area covered by a wide area network (WAN).
A computer network that spans a relatively large geographical area. Typically, a WAN consists of two or more local-
area networks (LANs). Computers connected to a wide-area network are often connected through public networks,
such as the telephone system. They can also be connected through leased lines or satellites./

PR TP TTHTT TGS arell TSI ¢ o TE1ierd &0 & B8 SpTiord 1 a1 arfhe |fhare w3 & foe vl fran s awar 8 159f%
wferarail ¥ SIHH B T T Aol A TGaT T ThdT 8, 37d: FIYLR UH A YD YHR Bt AUWTY 56 BR APl 8 1T 999 T $Ei
ggfawht-fagr & ReiR v 8 I a1 FregeR & SaURT WRed 3t f [FTeR HOTd (Aead) a1 el TuTd TP gran Twrd
AP PR Acad) TaT & o FIEI! B T & MSTH-YSTH BT Jraer a7 ¢ IFTgeR Tural &, TuTierd $IgfeT g U el fiid a1
IUGRT TP UH-gAY & 1Y T PT ATSGMH-UH I & 1SRRI (8) F §H & Sa%H, Fad UTeH 97 IqR WTHH F SUGRT gRT R
5 WITa € I a UiAT Aead (LAN), PRI SR was Tl &1 Uh TUE gidT ¢ e d9 U |15 HuR arg- a1 9d a% ot 3aR i gidt
R13MER R, a4 (LAN) Tl B2 wimifare &=, 9 ot srafa yae a1 R & R fosdll It | 2 wrgeRy ok ufvdty o=t @ firaes
T ¢ e e URdT Aead (CAN) U are 99 AT ¢ ot give wrger fagie srgurnit & wrgshidelert iR awal &t 3™ # T4k o 3t
gfaem 3 9 = A feos fvar man § \eifre ofear Aead (MAN) T IoTTd (Aead) @ il famma diea iar Aead (LAN) @ 93, R a138
TRAT Aead (WAN) | Bie Wifes &7  Suaiaarsil & eiger FaTHqT I siaaufid Bl 8 1US Hrex Aedd wil SueTPhd a3 WHifes e
T T BT € 13T} W, 39 (WAN), &l IT 3ife dida Uivar Aead! (LAN) | firaes 94T 8 1arss Tiar Aead | I8 F3ger Ud: rdelie
Jeaa!, S TAEH R, F 7Tam A 93 81 €188 divs argHl a1 Suwel & arerd A oft SireT o1 9t 21

LAN stands for:/ LAN &1 RT ATH 8-

1. Land Area Network/ &g TRar dead

2. Local Area Network/ @dd TRaT Sead

3. Local Arid Network/ @& d URS Jedd

4. Levelled Area Network/ WWW

Correct Answer :-

« Local Area Network/?ﬂﬁ@q Jeadh

3) DIRECTIONS: Read the passage and answer the questions that follow./ frdar: FFufafed s me:ﬂ%
o0 T ggfysedt wxal & O fywew &1 a9 ¥

A computer is a general purpose device that can be programmed to carry out a set of arithmetic or logical operations
automatically. Since a sequence of operations can be readily changed, the computer can solve more than one kind of
problem. Charles Babbage was an English polymath who gave the concept of a programmable computer. A computer
network or data network is a telecommunications network which allows computers to exchange data. In computer
networks, networked computing devices exchange data with each other using a data link. The connections between
nodes are established using either cable media or wireless media. A local area network (LAN) is a group of
computers and associated devices that share a common communications line or wireless link to a server. Typically, a
LAN encompasses computers and peripherals connected to a server within a small geographic area such as an office
building or home. A Controller Area Network (CAN) is a vehicle bus standard designed to allow microcontrollers and
devices to communicate with each other in applications without a host computer. A metropolitan area network
(MAN) is a network that interconnects users with computer resources in a geographic area or region larger than that
covered by even a large local area network (LAN) but smaller than the area covered by a wide area network (WAN).
A computer network that spans a relatively large geographical area. Typically, a WAN consists of two or more local-
area networks (LANs). Computers connected to a wide-area network are often connected through public networks,
such as the telephone system. They can also be connected through leased lines or satellites./

PR Th YU YIS aTell I gidT ¢ o1l Waaiferd &0 ¥ &3 By a1 arferes Yfparnt e & e wnfira fear o geoar 215fe
<ifpanaft & Srgery Y TRTAT 9 A9 A TG S AT , 37T: TR T A AU TSR 1 FAT 5 Y Ahall ¢ [A1e Jae T 34t
gfawdl-fagr A Rl Mnfra 81 9@ a1 SrageR 31 SauRu WRgd 31 R IHTER HATd ((ead) AT ST AuTd U gRuaan! durd

AP HH Acad) FiaT 8 Wil HIge! P JeT F ATGH-YSH Bt FrauT a1 B 1Hrgex Joiral §, ToTird Sragfet g udb 3e Rkid a1
TGN b UH-gaR & WY ST B SAEH-UeH B & 13RIl ([18) F § & Fa=H, Fad AT IT IaR 190 & SUTHT gIRT I
53 SITa g 1o e TRAT Aead (LAN), SFHERT SR wuw =l BT TP HHE AT 3 e 19 TP AT HaIR 15 a1 9a¥ 9 &1 JaR e gidt
B13MER R, a9 (LAN) Tl B vimifere 87, ﬁﬁwmmmw%?mﬁﬂﬁmkﬁq%mﬁsﬁwﬁmmﬁﬁw
m%m@wqﬁmﬁzﬂ%(mmwmwm%m@wmﬁ%ﬁaﬂm [ ATgshdelaR] SNY vl Y SITUH | IR A bt
gfaer 3 & =R | fEwrs= fear mar 8 19Suifie Thar Aead (MAN) U HTd (Aead) § ) faxma diea Thar Aead (LAN) | 938, R a158
i Aead (WAN) @ Bie Wi & & Sudiaarsi &) siugex TATYAT I aaaffa BT 8 1U6 FIoeR Aead Wl SueTHd 98 Wi &



T Har g 8 18R W, 39 (WAN), & a1 3IfUd afdd Thear Aeas! (LAN) & firaes g+ar 8 1arss Thar Aead @ 98 s Uid: Ardf-ie
Aeqh!, 99 TE Ried, & A1erw A 92 8§15 oiivs argHl a1 Suwel & Areaw | ot ST o g g1

A computer network or data network is a telecommunications network which allows computers to:/ HFYER HelTd

(eash) TT ST HWlTH U GRETR HWTd (eSS Fead) g1 & ol Segeri d _____ 1 gfaen gan
1. Exchange data/ S¢1® 3gM-UaMH

2. Delete data/ Sel fife™

3. Refer data/ o1 Tufdd

4. Review data/ ST ! HHI&T B

Correct Answer :-

« Exchange data/ 32T & JHeH-UeH

4) DIRECTIONS: Read the passage and answer the questions that follow./ frdar: Fofafed s meﬁ
o2 M sgfawed u=f ¥ O fawew &1 ag= #31

A computer is a general purpose device that can be programmed to carry out a set of arithmetic or logical operations
automatically. Since a sequence of operations can be readily changed, the computer can solve more than one kind of
problem. Charles Babbage was an English polymath who gave the concept of a programmable computer. A computer
network or data network is a telecommunications network which allows computers to exchange data. In computer
networks, networked computing devices exchange data with each other using a data link. The connections between
nodes are established using either cable media or wireless media. A local area network (LAN) is a group of
computers and associated devices that share a common communications line or wireless link to a server. Typically, a
LAN encompasses computers and peripherals connected to a server within a small geographic area such as an office
building or home. A Controller Area Network (CAN) is a vehicle bus standard designed to allow microcontrollers and
devices to communicate with each other in applications without a host computer. A metropolitan area network
(MAN) is a network that interconnects users with computer resources in a geographic area or region larger than that
covered by even a large local area network (LAN) but smaller than the area covered by a wide area network (WAN).
A computer network that spans a relatively large geographical area. Typically, a WAN consists of two or more local-
area networks (LANs). Computers connected to a wide-area network are often connected through public networks,
such as the telephone system. They can also be connected through leased lines or satellites./

FIER TP AU YAIST arer I gidT ¢ o Warfera ©u d &3 Sibfordta a1 arféhe wferart w3 & foe vl foan s wwar 3 197%
TRpaT3 ¥ SrIPH B TXadT T duil A Tl oI GHdl 8, 3d: YL TP | P THR Bt THWTE 50 TR Thdl ¢ 1a7ed a9 U 35w
gfawht-fagr A Rrgi= i 8 991 9T FTgeR B qURTT WA 3t A [FTHER HTd (Head) a1 el HuTd TP graan] durd
R@AFHR Aeadh) gar 8 W FREIN Bl ST & ATGTH-YerH P JiauT ST 8 IHFe: WoTal H, TTerd SRy et g U ST i &1
UGN b UH-gaR & WY ST B SAEH-UeH B & 13RIl ([A18) F §19 F FaxH, Fad HISH IT TaR A1 & SUTHT gIRT I
5 e € 1t a fean Aead (LAN), TR SR was Il 31 U g giaT 8 e dia te amen TaR arg a1 9aR a% ot 39R {6 gidt
R13MER R, a9 (LAN) Tl B v &=, 9 el srafaa vae a1 R & 3R sl It & IR wrgert ok ufvdta ot & fraes
T ¢ IbeIeR Ul Aeadh (CAN) U a1g 98 HIHS & o give wruger fagi st § "rgshicbeler! iR awdl &l S & TaR & 3t
ey 3 o1 = A fewirs fvar wan g IASuifres ufear Aead (MAN) Ts IeiTal (Read) @ &l faxma aiea ghar Aead (LAN) @ 93, R a15s
AT ATad (WAN) | B Wiiifee 89 & Suaiaarsit & ergex GaTHqT O Sraaufia Bdl 8 1T® BreR Jead &l 3iemPpd 9 Wiifeas &
T el glaT @ 18MHR W, 39 (WAN), 3l T 31Tt dida uiear Aedad! (LAN) | Frae? a-7d1 19158 T Aead @ 93 $Her UIa: qrdeii—ie
Acad!, A TRB Riew, S 71w | 92 19§18 divs argHl a1 Iwrel & a1erw @ W siveT oI qohar 1

The network that interconnects users with computer resources in a geographic area or region larger than that

covered by even a large local area network is:/ il?ﬁ?ﬂ%\‘rﬁﬁ?ﬂﬁ Eﬂ'ﬂTﬁEﬂTﬁﬁ ﬂ-ﬁ'«l@i e & & Sugiaarsit &
FIER HATY A St Far 8:

1. Land area network/ s TRy Jeadh
2. Local area network/ died TRAT Acdd

3. Metropolitan area network/ Agidifere Tfal Aeadh

4. Wide area network/ a3 TRAT Acad

Correct Answer :-

« Metropolitan area network/ Bgifere Thar Fead

5) DIRECTIONS: Read the passage and answer the questions that follow./ &1 frufefaa meiwr #) saryds gas a9
o i sgfawad u # Ot fawer o1 a7 B3|

A computer is a general purpose device that can be programmed to carry out a set of arithmetic or logical operations
automatically. Since a sequence of operations can be readily changed, the computer can solve more than one kind of
problem. Charles Babbage was an English polymath who gave the concept of a programmable computer. A computer
network or data network is a telecommunications network which allows computers to exchange data. In computer
networks, networked computing devices exchange data with each other using a data link. The connections between
nodes are established using either cable media or wireless media. A local area network (LAN) is a group of



computers and associated devices that share a common communications line or wireless link to a server. Typically, a
LAN encompasses computers and peripherals connected to a server within a small geographic area such as an office
building or home. A Controller Area Network (CAN) is a vehicle bus standard designed to allow microcontrollers and
devices to communicate with each other in applications without a host computer. A metropolitan area network
(MAN) is a network that interconnects users with computer resources in a geographic area or region larger than that
covered by even a large local area network (LAN) but smaller than the area covered by a wide area network (WAN).
A computer network that spans a relatively large geographical area. Typically, a WAN consists of two or more local-
area networks (LANs). Computers connected to a wide-area network are often connected through public networks,
such as the telephone system. They can also be connected through leased lines or satellites./

PR TP AU WEIST arel I 81T ¢ ol Tarierd ©U & &g SpTiord 1 a1 arfhe |fpare o= & fog wionfira fran s wwar 3 159(%
wferarait ¥ SIHH B TIEAT T Aol A TGaT AT ThdT 8, 3d: FIYLR TP A YD YHR 3t TUWTY 56 BR TPl 3 1TT& 999 T 6
ggfawht-fagr & ReiR vhnfia 8 I a1 FrogeR & SaURT Ry $t 2f [FTeR HOTd (Aedd) a1 el TuTd TP gruan] Twrd
AP HTA Aeadh) BT & o FIER] I 32T & SATSH-UGT Bt JIAuT T 2 1HTHR TWTal §, WeATierd HIfe1 I U 3l foid a1
mmﬁsw-@%$wu%amW—mmﬁﬁlmﬁlﬁ(ﬁa%aﬁa%aﬁw,mmmmémmm%mﬂmwﬁa
5 ITa € It a Uit Aead (LAN), PR SR was Tl 31 Uh AUE giaT ¢ e S Ue |15 HuR arg- a1 9d a% ot 9aR i gidt
IR W, a4 (LAN) fsdl B e a7, ﬁ@wmmmw%mwmﬁﬁﬁﬁwﬁaﬁwﬁ%ﬁwﬁﬁﬁmﬁ
AT B IFleR TRAT Aead (CAN) TP a1 99 TS 2 o give wrger fadis Srguaiit o urgsideler! Sk Tl &t Siue § TaR a3 &
giaem 3 9 =D A feors far wan § \Siferes ofear Aead (MAN) T IoTTd (Aead) @ &l faxma diea giar Aead (LAN) @ 93, R a138
AT Aead (WAN) & B Wi & & Suaiarall o evgex GarHql & aadfia Bl 8 1T® Hrgex Acad sl 3UePHd a3 Hiifee &
# T BlaT 8 18R W, 39 (WAN), 31 T 3T didpa Ufvdr Aead! (LAN) & Frae? a=7a1 8 1arss Tiia Acad @ 98 $7ge? UIa: qrdeii—ie
Aeadt, 9 TG Rien, F A1enw A 92 8d § 1S oivs argl a1 Suuel & Areaw | ot ST o qehar g1

The network that consists of two or more local-area networks (LAN’s) is:/ @8 ¢ad Sl & 4T 3 dipd TAT Acasd! (LAN’s)
| R T 8:

1. Land area network/ &g TRal Aedd
2. Local area network/ didd TRAT Acdd

3. Metropolitan area network/ Agidiiere Tfal Aead

4. Wide area network/ d138 TRAT Acdd

Correct Answer :-

« Wide area network/ WWW

6) DIRECTIONS: Read the passage and answer the questions that follow./ f3gr: fFafafEe T s yew? s R
o M sgfawad v # Ot fawew o1 a7 B3|

A computer is a general purpose device that can be programmed to carry out a set of arithmetic or logical operations
automatically. Since a sequence of operations can be readily changed, the computer can solve more than one kind of
problem. Charles Babbage was an English polymath who gave the concept of a programmable computer. A computer
network or data network is a telecommunications network which allows computers to exchange data. In computer
networks, networked computing devices exchange data with each other using a data link. The connections between
nodes are established using either cable media or wireless media. A local area network (LAN) is a group of
computers and associated devices that share a common communications line or wireless link to a server. Typically, a
LAN encompasses computers and peripherals connected to a server within a small geographic area such as an office
building or home. A Controller Area Network (CAN) is a vehicle bus standard designed to allow microcontrollers and
devices to communicate with each other in applications without a host computer. A metropolitan area network
(MAN) is a network that interconnects users with computer resources in a geographic area or region larger than that
covered by even a large local area network (LAN) but smaller than the area covered by a wide area network (WAN).
A computer network that spans a relatively large geographical area. Typically, a WAN consists of two or more local-
area networks (LANs). Computers connected to a wide-area network are often connected through public networks,
such as the telephone system. They can also be connected through leased lines or satellites./

PIER TP AU WEIST aren I gidT ¢ o) Warierd ©U & &g Spiord 1 a1 arfhe |frare o= & fog winfira foran s wwar 8 159(%
Ui & Sy Y AT T Aol A TG S TSI &, 3(el: HER T W D YR Bt THTY §6 T HPal ¢ 116 999 Toh 33
ggfawht-fagr & ReiR vl 8 I a1 FrogeR &Y SqURn R $t 2f [FTeR HOTd (Aedad) a1 el TuTd TP gran Turd
RHRPRHA Aeadh) BT & o FIER] I 32T & SATH-YGT Bt JIAuT 3T 2 1HTgeR TWTdl §, WeATierd HIf I U 3T i a1
IUGHT P TH-gAY & 1Y ST T ATGH-UH $a ¢ 1SR (8) F & SaxH, Fad AT 971 IqR 1T S SUGRT gRT R
5 ITa € It a Uit Aead (LAN), PR SR was Il ®1 Uh AUE giaT ¢ e da Ue |15 HuR arg- a1 9d a9 ot 9aR i gidt
R13MHAR W, &9 (LAN) el B Wiiifere &=, S fosh sratag vaq a1 R F o fHdl TR A O Frges) ok ufvsdiy gt | fraes
4T g IPerer TRAT Aead (CAN) UH a1 a9 AT 8 T gRe Frgex fagi= Sy & Argshidelar) 3N¥ Il &) MU # TaR B o
giaem 3 9 = A feoirs far man § ASiferes oiear Aead (MAN) T IoTd (Fead) @ &l faxma diea giar Aead (LAN) @ 93, R a138
uiET Aead (WAN) 9 Bie Yo a3 o Suaiaarsil &1 Frger Y1eET ¥ faauiia #dl 8 ITh FIgeR Aead wil UeTHd 95 Wi a7
# T BraT 8 18R W, 39 (WAN), 31 TT 3 didpa Ufedr Aead! (LAN) ¥ Frae? a=7a1 & 19158 Tiian Aead @ 98 $7ger UIa: qrdeii~ie
Aead!, SN TG Rien, F A1enw A 92 8 § 1S oivs arsl a1 Suuel & Areaw | ot ST o qehar g1

Wide area network can also be connected through leased lines or:/ 9138 TRAT Acad &I divs ATsA! a1 F arend ot
SST &I T B

1. Satellites/ IWIE
2. Radios/ Yf&ar



3. Televisions/ JICE
4. Printers / fiiex

Correct Answer :-

« Satellites/ REDH]

7) DIRECTIONS: Read the passage and answer the questions that follow./ frdar: FFafafed wmar s meﬁ
o0 T ggfamedt wxal & O fawew &1 gg9 ¥

The communication process is dynamic in nature rather than a static phenomenon. Communication process as such
must be considered a continuous and dynamic inter-action, both affecting and being affected by many variables.

The person who intends to convey the message with the intention of passing information and ideas to others is
known as sender or communicator. This is the subject matter of the communication. This may be an opinion,
attitude, feelings, views, orders, or suggestions.

Since the subject matter of communication is theoretical and intangible, its further passing requires use of certain
symbols such as words, actions or pictures etc. Conversion of subject matter into these symbols is the process of
encoding. The person who is interested in communicating has to choose the channel for sending the required
information, ideas etc. This information is transmitted to the receiver through certain channels which may be either
formal or informal. Receiver is the person who receives the message or for whom the message is meant for. It is the
receiver who tries to understand the message in the best possible manner in achieving the desired objectives. The
person who receives the message or symbol from the communicator tries to convert the same in such a way so that
he may extract its meaning to his complete understanding. Feedback is the process of ensuring that the receiver has
received the message and understood in the same sense as sender meant it./

TR B ATRI Ao Ured $31 F 32=4 F, forelt Trew # fus vel w fRua aafaaa) & ffw il ar faart & srer-ver ¥ W ufkar &
U H uiRynfa fan oI wear 81 HaR @t uiear wis fRIR ufvaen 781 gidt @ afes ag ot nfasita ypfa @t gidl 31 59 ©u A, T=r uftrar &
TS Tdq Ud iR srafshar A1 ST aifey, o 3 R & gUTiad gt @ 3R 8 =Ri & yuTiad et 21

TR B TSR T4 R ugam & Wi @ TR Ugar Bt STHieT I arar Afed IuS 971 JaRS bedrdl 81 T8 TR, TaR ot fawg-
g BT ¥ 1 U IS T, T94T, YT, TRHIVT, M= AT a8 qehal 2

Hfeh TR @t fawy-avg Sri~re Ud Srgd gidl 8, 3rd: I SR 3T dgM & Y 3o wdiet, 99 =g, foranait ar Rl anfe &t smazgwar usdt
21 favu-aeg &t 397 wdiol & aqan 3t f3par & S @A) Fel Jal ¥ IR B A $R 3@ a1a afed 31 siaxgs SHeRl, R
31fe VoM F 1T T ARt (@) I9-1 8T 81 T8 TSR $© AT @aT) P ATeaH | UTedddl aob Jeil srdl 8, F 9t siqenfys ar
SIS & TPd 8| Uiddl a¢ i gldT @ ol == WIS BT @ 9T W= FoRTd forg AT a7 g 81 widal, difed Stal i ure
P DI URHT H T2 D) TANY T A TS BT T ST 8 [HaRD A o= T Y1 Ied HI arell Ao 39 39 UPR o ©Uraivd Hed
BT WaTH FHIdl & R a8 1ot Wyt wwe 3 W ao a1 o fHrera wd | wfagfy (wsdw) as giafya w37 ot v uftrar @ i urawat
B YN UTC &Y 7T 8 3R I SuPT ae) oref gy foran € Y Owes o7 T

The nature of communication process is:/ IR UFHAT B UPHid ®
1. Dynamic/ 7 =i
2. Static/ TR

3. Rotating/ guH&RY
4, Circular/ 9dl®R

Correct Answer :-

« Dynamic/ TTfa=id

8) DIRECTIONS: Read the passage and answer the questions that follow./ f3gr: fFafafEa T amyds yew? s R
o i sgfawad v # Ot fawen o1 a1 S|

The communication process is dynamic in nature rather than a static phenomenon. Communication process as such
must be considered a continuous and dynamic inter-action, both affecting and being affected by many variables.

The person who intends to convey the message with the intention of passing information and ideas to others is
known as sender or communicator. This is the subject matter of the communication. This may be an opinion,
attitude, feelings, views, orders, or suggestions.

Since the subject matter of communication is theoretical and intangible, its further passing requires use of certain
symbols such as words, actions or pictures etc. Conversion of subject matter into these symbols is the process of
encoding. The person who is interested in communicating has to choose the channel for sending the required
information, ideas etc. This information is transmitted to the receiver through certain channels which may be either
formal or informal. Receiver is the person who receives the message or for whom the message is meant for. It is the
receiver who tries to understand the message in the best possible manner in achieving the desired objectives. The
person who receives the message or symbol from the communicator tries to convert the same in such a way so that
he may extract its meaning to his complete understanding. Feedback is the process of ensuring that the receiver has
received the message and understood in the same sense as sender meant it./

TR B! TR ATHEE U 31 & 3234 9, fdt Trea § s uel wr fua aafdrat & dta awat ar fear) & snem-ueH & wwafRa ufrar &
o ¥ ufvura fean o wwar 81 TUR 31 uftear 15 RR afivger 98 3id) ? 9 a8 9 nfazia upfa & @6 81 59 w0 8, T uftea &t



TS qdq Td fa=ite srafshar a1 9rEn @ifee, ot &% R A guTfad @i 8 o 33 =@R) @) uytfad w71

TR B WS T4 R ugam & waie & TR Ugar Bt STHieT I aral Afed JuS 91 YaRS bedrdl 81 T8 TR, TaR ot fawg-
I ST 81 I BIS Hd, TAGT, TG, TRHI0L, 31T a1 Y14 &) Wbl 21

Ifp TR F} fawg-avg S0 Td ongel gidl 8, 3rd: SH 3NX 3 9gi1 & U 3o wdie, S Weat, foparsit a1 R anfe &1 smavawar st
21 favu-aeg & 397 Wil & agan 3t f3paT B Bre (SIS Fel 9l ¥ JaR B4 W FR 1@ a1d Aafed 31 saxgsd JTHeR], fdar
31fe WA & e ve 9t (@) 9941 a1 81 98 9IS $ TN (@Fa) & A1ed A Uredhdl de Heil STl 8, ¥ 9nf shv=nfye ar
SIS 8 Tobd & | WTdd! a8 i BIdT & S T=S= T T & a1 G- oIS 1w WSt 471 8T 81 Wiedspdt, aifdd STl &1 ura
P B UfpAT § TSR B JAAY &1 W JHSA ST YATH HT 8 IARS W == AT Wl Ib U 1 aTel] Afedd 39 59 UPR T TUr=<ivd o9
BT 94T Sl & R a8 s wvyul gwsr Y Far o ST 3 frera 9% | ufiagfY (@Fed®) ae i o3 9t o ufhar @ % uraeat
P TR YT B T § 3N% IqA b1 a8t 3 gy forar @ =it Jwe 7 Tl

The person who intends to convey the message:/ T W[ FT am’&nmﬁmm%r_sﬁm%:
1. Receiver/ UTeiaat

2. Encoder/ TH®ISR

3. Decoder/ fdmis® EldlsR)

4. Sender/ L

Correct Answer :-

. Sender/ UY®

9) DIRECTIONS: Read the passage and answer the questions that follow./ f3gr: fFafafe T 1 amFyds yes? 39 R
o T2 sgfaeedt uwH) # 9E Rieea o1 g1 3|

The communication process is dynamic in nature rather than a static phenomenon. Communication process as such
must be considered a continuous and dynamic inter-action, both affecting and being affected by many variables.

The person who intends to convey the message with the intention of passing information and ideas to others is
known as sender or communicator. This is the subject matter of the communication. This may be an opinion,
attitude, feelings, views, orders, or suggestions.

Since the subject matter of communication is theoretical and intangible, its further passing requires use of certain
symbols such as words, actions or pictures etc. Conversion of subject matter into these symbols is the process of
encoding. The person who is interested in communicating has to choose the channel for sending the required
information, ideas etc. This information is transmitted to the receiver through certain channels which may be either
formal or informal. Receiver is the person who receives the message or for whom the message is meant for. It is the
receiver who tries to understand the message in the best possible manner in achieving the desired objectives. The
person who receives the message or symbol from the communicator tries to convert the same in such a way so that
he may extract its meaning to his complete understanding. Feedback is the process of ensuring that the receiver has
received the message and understood in the same sense as sender meant it./

TR &Y TR A U B3 & 3239 9, fohd) Tre= & fird uei R Rya cafgaal & = awat a1 fem) & sieM-yer @ T i=e ufshar &
Fu H u Ut fear o1 waar @1 TR 31 ufthar 15 fRR ufvger 98 gl @ 9w ag a nfasia yepfa & 1t 81 59 ©u ¥, 9 uftear &t
T o< Td Tfereiiel Srafehar A1 ST =Ry, it g wRY & THTfd gl € iR &8 =) &1 yTfad wedt 21

ORI B AFBRI U9 faR UgaH & Yo O G- Ugar & S(ThiedT I+ aTel safad YU a1 TaRe baardT 81 g8l I=<8l, §ar & faug-
G BT 21 U8 P15 A, I94T, TSI, VPV, ST AT G4 &) TPl 21

Hfoh TR @t fyvg-avg Ssrf~re vd ongd gt B, ore: 39 8 3mt g ¥ e $o wdte, 9 <t foranait ar Rl anfe 6t smazgear vt
21 fAvg-avg & 37 ueli! ¥ 9gaq B F55a1 B Ble (@IS Bl ATl 1 TOR T § S 7@ ara afed &1 smaxgs SHerRl, fmr
3fe VoA F 1T T ARt (@) g1 BT 81 T8 SWTHSRY $8 | (@d)) & ATeay A UTddal aob Jeil wrdl 8, T 9rt siaanfys ar
ST 8 Yobd &1 Wkddhd! 98 i BidT & S Y=2RN UTW T & 9T I Ford 1w Wim 141 giat 81 Widsat, aifod Sl &) ure
P BT URFAT H T B JAAY TV THFH BT TATH HIT ¢ [TORS F T T U1 WItd T aTell AT 39 39 TPR § TUr=Iivd He
BT YOI Fal & I 98 sroeit grguf gy 351 War a@ Iaen o e % | ufayfy @wsds) g ke 7 ot ve uiwan § & uraeat
P GO UTS B 7T € 3R I ST ag) 3 worey feram € S Swes o1 T

The subject matter of communication is:/ TR HI fAvgag &t &
1. Theoretical and intangible/ g~ Td 3Fd

2. Practical and intangible/ STAgIR® TF 3

3. Theoretical and tangible/ S~ Td Tl

4. Practical and tangible/ ST Td Td

Correct Answer :-

« Theoretical and intangible/ SgTf<I® Td 3t



DIRECTIONS: Read the passage and answer the questions that follow./ -3z fFafufa e & amFgds yew? 39 R
o M ggfamedt =t & Ot fywen &1 wga B

The communication process is dynamic in nature rather than a static phenomenon. Communication process as such
must be considered a continuous and dynamic inter-action, both affecting and being affected by many variables.

The person who intends to convey the message with the intention of passing information and ideas to others is
known as sender or communicator. This is the subject matter of the communication. This may be an opinion,
attitude, feelings, views, orders, or suggestions.

Since the subject matter of communication is theoretical and intangible, its further passing requires use of certain
symbols such as words, actions or pictures etc. Conversion of subject matter into these symbols is the process of
encoding. The person who is interested in communicating has to choose the channel for sending the required
information, ideas etc. This information is transmitted to the receiver through certain channels which may be either
formal or informal. Receiver is the person who receives the message or for whom the message is meant for. It is the
receiver who tries to understand the message in the best possible manner in achieving the desired objectives. The
person who receives the message or symbol from the communicator tries to convert the same in such a way so that
he may extract its meaning to his complete understanding. Feedback is the process of ensuring that the receiver has
received the message and understood in the same sense as sender meant it./

TR B! TR ATHGE U 31 & 3624 9, fpedt Trea § g el wr fua aafeat & dg awat ar far) & snem-uem & wwafRa ufear &
Fu § ufyHTRa fpar o w@ar 81 TER Ft ufthar 1% fRR afvger T8 g @ 9fep a8 a1 nfashia wefa & 8 81 59 w0 #, T ufsear &t
TP Jaq Ud =i srafshar A1 ST aifey, o &% @Y & gUTiad gt @ 3R o8 =R) & yHTiad Sedt g1

TR & TSR Td faR Ugam & yaie @ TR UaA Bt THial I aTal Afed Hue 91 TaR® Seardl g1 98t 9=, TuR 3 fawg-
I BT &1 € DI A, I9GT, TG, VP10, 1S AT Jard &) el 21

Hfeh TaR @t fawy-avg Sgri~re Ud orgd il 8, 3rd: I SR 3t ggM & 1T $o wedtet, 9 =sgl, fopanait ar Rl anfe &t smazgwar usdt
21 favy-aeg & 397 weliol & aqan 3t a1 B B (SIS Fel Jial ¥ JaR B W FR 1WA a1d Afedd 31 axa s JTHeR], R
31T WA & T ue 9l (@) 9941 8141 81 98 9P $B HFIT (@al) & ATeH A Ured de Heil ST g, 3w Sy a1
SIS 8 Tobd & | UTdd! a8 i BIdT & S T=S=T T T & °T G- oIS 1w Wit 471 il 81 Wi, aifdd STl &1 Ui
P B UfpAT § TSR B JAAY &1 W JHFA ST YATH HdT 8 IARD F == IT Wl I U 4 aTel] Afadd 39 59 UPR F TUI=ivd o
BT TUTH ST & Rad a8 sro wvyul gwsr Y Fa1 o 3T 3 Frere 9 | ufaufd (@Fred®) ae i o3 ot o ufhar @ b uraeat
P TR YT B T § 3NR IqA IbT a8 3 gy forar @ it Uwe o7 Tl

The person who receives the message:/ mmmﬁmﬁ_ﬁm%
1. Communicator/ ¥dR®

2. Decoder/ famis® @EHIR)

3. Receiver/ UTeiadl

4. Sender/ U¥&

Correct Answer :-

« Receiver/ Q‘I‘G!Fcﬁ

11) DIRECTIONS: Read the passage and answer the questions that follow./ o frafafea T s W@EWW
e T ggfamedt el & O fyweu &1 aaa $¥)

The communication process is dynamic in nature rather than a static phenomenon. Communication process as such
must be considered a continuous and dynamic inter-action, both affecting and being affected by many variables.

The person who intends to convey the message with the intention of passing information and ideas to others is
known as sender or communicator. This is the subject matter of the communication. This may be an opinion,
attitude, feelings, views, orders, or suggestions.

Since the subject matter of communication is theoretical and intangible, its further passing requires use of certain
symbols such as words, actions or pictures etc. Conversion of subject matter into these symbols is the process of
encoding. The person who is interested in communicating has to choose the channel for sending the required
information, ideas etc. This information is transmitted to the receiver through certain channels which may be either
formal or informal. Receiver is the person who receives the message or for whom the message is meant for. It is the
receiver who tries to understand the message in the best possible manner in achieving the desired objectives. The
person who receives the message or symbol from the communicator tries to convert the same in such a way so that
he may extract its meaning to his complete understanding. Feedback is the process of ensuring that the receiver has
received the message and understood in the same sense as sender meant it./

TR B TR ATHE U $31 & 3229 9, fdt Trea # s el w fua aafeaal & dg awat ar far) & sneM-ueM & wwf=a ufpar &
Fu H g Ut fpar o Waar @1 TR 31 ufthar 15 fRR ufvger 98 gl @ 9fep ag ot Tfasia ypfa & it 81 59 ©u ¥, TR ufsear &t
TP A U4 Tfasite 3rafehar W1 ST 91, Wil &% TR | guTfad giell @ 3R 8 =R\ &t yutfad avet 21

TR B ISR Td fIaR ugam & yaie & O Ugaa Bt STH1ET I@A aral Afed Yud 91 HaRS Seardl ¢ | 98t 9=, §aR 31 fawa-
g TT ¥ T IS T, T391, YT, TRHI0T, M= AT JId g qhal 2
Hfth TR @t favg-avg S~ v orgd il 8, ord: 39 8 3mt g ¥ 1w 3o wditel, 99 wisgt, foranait ar Rl anfe &t smazgear vt

21 fvg-avg = 37 Uil ¥ 9gaq & 3591 I Ble (@IS Bl ATl 1 TOR T § S 7@A ara afed &1 smaxgs SHerRl, fmr
3fe Ao & g uer 9l @) AT 81T 81 U8 ISR $© RN (@94l & 919y | yTedd 9o el 9 8, 3 9t siveriye ar



SaTie g Tod € | WTwdbd! a8 iR BT @ St T=o%T Ut $HedT & a7 T-<=1 foreadb fore O mam gYar 21 wreaeal, qifoq Sgxal @) ure
P BT URFAT H T B JANY T F THSH BT TATH ST ¢ [TORS § T T U 19 It HI aTell AT 89 39 TPR § TUr=Iivd He
BT YOI FRal & R 98 oot grguf qug 351 WaT a@ 381 ordf e & | ufayfy (Wrsd®) g Jfda w1 ot v uftpar & fF urawat
P! =N TS 81 4T € 3R I S9PT a8 o ey foram @ =i Owep &1 T

The process of ensuring that the receiver has received the message is called:/ U@l B! T UTW &) 741 & 98 iy
P @t ufsean Peard! 8:

1. Feedback/ WIgad® (TAfa2H)
2. Information/ =1
3. Opinion/ Hd

4. Attitude/ 341

Correct Answer :-

« Feedback/ Wigsd® (AHaTH)

12) DIRECTIONS: Read the passage and answer the questions that follow./ f&=1: frufefaa meiw & o yds ugas 3a&
i feR T sgfamedt wel & A fawey &1 999 +¥ 1

The communication process is dynamic in nature rather than a static phenomenon. Communication process as such
must be considered a continuous and dynamic inter-action, both affecting and being affected by many variables.

The person who intends to convey the message with the intention of passing information and ideas to others is
known as sender or communicator. This is the subject matter of the communication. This may be an opinion,
attitude, feelings, views, orders, or suggestions.

Since the subject matter of communication is theoretical and intangible, its further passing requires use of certain
symbols such as words, actions or pictures etc. Conversion of subject matter into these symbols is the process of
encoding. The person who is interested in communicating has to choose the channel for sending the required
information, ideas etc. This information is transmitted to the receiver through certain channels which may be either
formal or informal. Receiver is the person who receives the message or for whom the message is meant for. It is the
receiver who tries to understand the message in the best possible manner in achieving the desired objectives. The
person who receives the message or symbol from the communicator tries to convert the same in such a way so that
he may extract its meaning to his complete understanding. Feedback is the process of ensuring that the receiver has
received the message and understood in the same sense as sender meant it./

TR DI TR ATHGE U 3 & 3624 9, fpedt Trea § g el wr fya aafemat & d awl ar far) & snem-uem @ wwafRa ufear &
Fu § ufyuTRa fpar o woar 81 TER F ufthar 1% fRR afvger T8 g @ 9fep a8 ot nfasiia wefa & 81 81 59 =0 #, T ufsear &t
TP Jaq Ud =i srafshar A1 ST aifey, o % @R & gUTiad gt @ ok 8 =R) & yHIiad et g1

TR B AFBRI Td R ugam & wiie & TR Ugar Bt STHieT I aral Afed JuS 91 YaRS bedrdl 81 g8 TR, TaR ot fawg-
T BT 81 T€ BIE 7, 391, TG, TRBII, T AT Y1d &) Feball 1

Ifp TR P fawg-avg ST Td ngel gid] 8, 3rd: 39 3NX 3 9g & e 3o wdie, S Wreat, foparait a1 R anfe &t smavawar st
21 favy-aeg & 397 Uil & agan 3t f3paT B Bre (TSI Fel Jial ¥ JaR B3 W FR 3@ a1a Aafed 31 saxasd JTHeRT, R
31fe U & T ve 9t (@) 99471 a1 81 98 9P $ TN (@a) & A1eH A Uredhdl de Heil STl 8, ¥ 9nf shv=nfys ar
SIS 8 Yobd & | WTdpd! 98 i BIdT & ST T=S= T T @ IT I oIS 1w WelT T4 8T 81 Wiedspdt, 9ifdd STl &1 Ui
P B UfpaT § TSR B YAAY &1 W JHSA BT YATH HdT 8 IIRS W == AT Wl Ib U 1 9Tl Afedd 39 59 UPR A TUr=ivd o
BT 94T Il & R a8 s wvyul gwsr Y Far a9 ST 3 frere 9% | ufaufY (@Fed®) ae i o3 9t o ufhar @ 6 wraaeat
P TR YT B T § 3NR IqA b1 a8 3 gy forar @ =it Jwe o7 Tl

Conversion of subject matter into symbols is the process of:/ ﬁsrq-aqaﬁ PLicak:] mﬁﬁmﬁ_ﬁﬁ%
1. Encoding/ PIed (qqaﬂ%m

2. Decoding/ fawrea @ﬁ%ﬂ)

3. Transmitting/ YR

4. Referring/ SN0l

Correct Answer :-

« Encoding/ B89 (TIHIFE)

Topic:- Child Care and Education

1) Which type of learning emphasizes the importance of rewards and punishment?/ ﬁ»—aw%ﬁwﬁw 3R s
F W W IR fam o 32

1. Operant conditioning/ fhaTogd 3rgH e



2. Cognitive learning/ STeTaTe fRreror
3. Classical conditioning/ GRURNTA 3 e
4. None of the above/ IWRIad # ¥ ®13 Tal

Correct Answer :-

« Operant conditioning/ fhaTd sr@ e

2) A child whose parents are dead or have abandoned them permanently is called:/ '3 =1 foraes arar-fUar #t gog 8t 73
T U1 3/ Wit U F T feun g, weardn &

1. Orphan/ 31y

2. Destitute/ FRIf%d

3. Disabled/ 3&#H

4. None of the above/ StRIad § ¥ HIs gl

Correct Answer :-

e Orphan/ 3A1Y

3) Which among the following is not associated with ‘error of refraction’?/ F & I i1, sryad+ 3fe | Tafia 78 82
1. Myopia/ fAecefar

2. Hyperopia/ sifdf@eef¥dr

3. Astigmatism/ Hﬁm@@w

4. Cataract/ Wifcanfag

Correct Answer :-

. Cataract/ 9ifqaifae

4) A person who has no money at all, no food and no place to live is known as a:/ f\‘ﬂm%%umaﬁ% %Fl=r€f, EEE N
3R ¥e7 & oY =T 71 Y, 9% F1 P @

1. Disabled person/ 3{&H Sfad

2. Destitute/ FRIf%d

3. Juvenile Delinquent/ ST 3{ORTet
4. Impaired/ f:=9q

Correct Answer :-

« Destitute/ FRif%a

5) Which among the following is a pre-speech form of communication?/ ﬁaﬁﬁﬁﬂ,#&wwa@-ﬁmé‘z
1. Crying/ AT

2. Cooing and babbling/ fFa@Rar 3R gaaree

3. Gesturing/ g1d-HTd &I

4. All of the above/ IWRIad THt

Correct Answer :-

« All of the above/ ITRiad a4t

6) Body build which has more of adipose/fat tissues than muscular tissues is called:/ mmﬁmmﬂm
SHad! areT TR TS Heardl &

1. Ectomorphic build/ ST fa® T8
2. Mesomorphic build/ UL T3
3. Endomorphic Build/ 3d:&dl T84
4. None of the above/ STRIGd § ¥ HIs g



Correct Answer :-
« Endomorphic Build/ 3id:&4l T4

7) Which among the following process can be termed as one which brings about a relatively permanent change or
modification in behaviour as a result of practice or experience?/ 9 ¥ & H9 ufthar, 34T AT 3FYT F IRUTHEEY deR §
SUeTHd RITH aTa a1 RN AT arelt A= o Wb 82

1. Learning/ 3fferma/ARa=n

2. Recreation/ HARSH

3. Exercise/ WTH/ATAH

4. Aesthetic appreciation/ Tied Ay

Correct Answer :-

« Learning/ SHfTHAfRaT

8) ICPS stands for:/ ST (1CPs) T FT 3 B-

1. Indian Child Protection Scheme/ YR STe TRETTT TSI

2. Integrated Child Protection Service / ThIgd STdl A& Hal

3. Integrated Child Protection Scheme/ T@igd aTd T=&OT ArorT
4. Indian Child Participation Scheme/ HRdg STe UfHTRIAT T

Correct Answer :-

. Integrated Child Protection Scheme/ THIdd STe TRE&UT TIoiT

9) Which among the following refers to significantly sub-average general intellectual functioning existing
concurrently with deficit in adaptive behaviour?/ ffg & & #11, S@E-1T U ¥ 3fi9d A g I g frarhiear @ gdfia @
St P aITHS g A HHI F Y Wgad! = # Hieg gl &7

1. Learning disability/ 3iftrmy (e Taieh) srerman

2. Emotional disturbance/ HTa-T&® faafsrar

3. Mental retardation/ AFRI® Hadl

4. Autism/ 3fifesH/ AT

Correct Answer :-

+ Mental retardation/ HTHRI® Hedl

10) AIDS stands for:/ USH (AIDS) &1 314 a1 &:

1. Acquired Immuno Deficiency Syndrome/ T&TdS SR SR Rig
2. Actual Immune Deficiency Syndrome/ Tag3d SR SRR RigH
3. Acquired Immuno Diseased Syndrome/msﬂfﬁ%\_ﬁﬁﬁ@ﬂ

4, Affected Immune Disease Symptom/ &msﬂﬁmﬁ@ﬂ

Correct Answer :-

« Acquired Immuno Deficiency Syndrome/ T&Tas 3R SfthiRewt Rigm

11) Which among the following should not be done so as to reduce the effects of disability?/ ﬁ"!ﬁﬁﬁ, SEHT UHTd
P B $ foe T8 fpan s =nfeee

1. Preparing the disabled for a vocation to make them economically independent/ 3i&d aafad &1 3fiie w0 § T s & o fomeft gfy
(TITT) ¥ IR HAT

2. Practicing the belief that it is a curse to be a disabled/ S f34TH %! Y=t W1 {3 31em g1 U gHi™ &

3. Modifying the person’s environment so that they can cope with the disability/ fad & TR &1 59 UHR I ST f 9 S1&dT &1
AT IR G

4. Creating favourable attitudes among the community/ TH&™ ¥ SIS B0 Jiord BT



Correct Answer :-

« Practicing the belief that it is a curse to be a disabled/ 9 4™ & vaIfeid & fob 3rem g1 U guia 8

12) The frequency of behaviour can be reduced by giving:/ T UgTH $IP AAER P! AR HH P &1 TPl &
1. Punishment/ 308

2. Negative reinforcement/ ThRIHD Uddd

3. Both of the above/ IWRIad GHI

4. Positive reinforcement/ YhRIHD Ydc

Correct Answer :-

« Both of the above/ RENECKAL]

13) Any agent that causes a birth defect is known as:/ Wmmmﬁwaﬁéw, Peard &
1. Teratogens/ fa&us®

2. Diagnostic defects/ BHAIREZCL

3. Defective agents/ Gyl &R

4. None of these/ T9H ¥ HIs g

Correct Answer :-

« Teratogens/ fa=usH®

14) Cerebral palsy is a type of:/ I35d TR, Th ISR &:
1. Neurological impairment/ RIECARRERCRGII

2. Musculo-skeletal impairment/ U epTolly 3=reddr

3. Psychotic disorder/ A-Ed! fdwR

4. None of the above/ StRIad # ¥ HIs gl

Correct Answer :-

« Neurological impairment/ 41 S=1Ear

15) The period from conception to birth is known as:/ THIYTH ¥ S d $! 3rafy Hgard! 2:
1. Prenatal period/ Yaqd 3@y

2. Postnatal period/ TIGUETd Aty

3. Period of neonate/ asId 3{afy

4. Period of ovum;/ (ST 3fafy

Correct Answer :-

« Prenatal period/ WT:I'TCf 3y

16) Which among the following refers to the protection of children from violence, exploitation, abuse and neglect?/

frra & @ o, 3= @ &, o, gafagR SR U | W& UeH H & JAafia 82
1. Child welfare/ STcl & 10l
2. Child protection/ STel SR&0I

3. Child abuse/ 9Td gHdgR
4. Child care/ 919 G@HTA

Correct Answer :-

« Child protection/ STel HR&UT

17)



Dynamic organization within the individual of those psycho-physical systems that determines the individuals unique

adjustment to the environment is termed as:/ uf¥awr & ufq safea &1 e@muwﬁmﬁufhamﬁwﬂﬂ fYe yonferay ara
T & TIfre e ST 8

1. Cognition/ oY

2. Play/ d

3. Personality/ safadd
4. Morality/ faedr

Correct Answer :-

« Personality/ &faa@

18) The cord which carries food substances and waste products to and from the embryo is called:/ YUT & QT UgIdf @
ST aret 3R SrufRie ugrd AT’ & W arelt e, wEardl @

1. Umbilical cord/ 7@

2. Sterilized cord/ fadsHa Ara

3. Cord of Zygote/ gtHG ATl

4. None of these/ 378 9 P13 T8l

Correct Answer :-

« Umbilical cord/ M@

19) School readiness is developed in which period of development?/ T@d @t a4, o faeT srafy § faw iy gidt &2
1. Infancy/ Fasid TRl

2. Early childhood/ RN STegrawit

3. Middle childhood/ A& STcdTaRIT

4. Late childhood/ 3R dTedTdRIT

Correct Answer :-

« Early childhood/ 3MRfY& STearawi

20) Early childhood is also known as:/ 3RfH® STeaTa®yT $! g Y HeT o141 2:
1. Preschool age/ ¥ U 3fafdy

2. Toy age/ f&aT (e @) 3rafy

3. Problem or troublesome age/ THX 1 HidTs &1 3fafdy

4. All of the above/ Juad gHt

Correct Answer :-

« All of the above/ IuRia a4

21) Which among the following is not a period of prenatal development? /@ # @ 1, 5=-7d faprT & erafy T8 &2
1. Post-partum/ U¥d-URdTd

2. Foetal/ yofg

3. Embryonic/ mifg

4. Germinal/ SEIGED

Correct Answer :-

« Post-partum/ U¥4d-URdId

22) Specially designed instructions which meet the unique needs of an exceptional child is known as:/ fodt e

o # rfdty smazgmaral @t off F3A are fdy IR W arfvrefra (s fbe g srqew seama &

1. Exceptional education/ fETHRU3UATC! fRIaT



2. Special Education/ fa=iw f2rem
3. Casual education/ 3T e
4. Formal education/ 3Nu=ie e

Correct Answer :-

« Special Education/ fa=w frem

23) “Juvenile’ means a child below the age of:/ THFIR #T Af FPTA PHIGF TAA &
1. 16 years of age/léaﬁéﬂ
2. 17 years of age/17a'5f3ﬂ'§
3. 18 years of age/lsaﬁ&ﬁg

4. 21 years of age/21 atfsmg

Correct Answer :-
« 18 years of age/lsa'ﬁf&ﬂ'g

24) Three per cent reservation in government educational institutes/government aided institutions is provided for

the disabled children by:/ 3&W T & T TRPRT Afere IR ARSRY TeradT Ui GRIH! § i ufer=a smRervr uer fpar man @:
1. Ministry of Social Justice and Empowerment/ I =19 Td TR HATCR gRT

2. Ministry of Rural Development/ UTHITT fa&T Haad GRT

3. Ministry of Education/ fRi&m #ared g1

4. Department of Disability Affairs/ & A & HACRI GRT

Correct Answer :-

« Ministry of Education/ fRi& d=re™ g1

25) Which among the following is not a type of learning?/ ffrg #f & ®i9, ftrm (@A) &1 UPR T &2
1. Trial and Error/ UR1&fur 33?37?

2. Classical conditioning/ TRURIId 3{J e

3. Materialistic conditioning/ erfard} SRCaNE]

4. Instrumental conditioning/ Afifxie ERCISE]

Correct Answer :-

« Materialistic conditioning/ UeTfare} 3@

26) The study of Human Development is not related to which among the following discipline?/ \T-d fa®Ta &7 sreaaH, oy
9 forx fawg @ wafta gt g2

1. Anthropology/ Arafae

2. Mechanical Engineering/ aif3® it
3. Psychology/ HAIfas

4. Biology/ Sftafasi

Correct Answer :-

« Mechanical Engineering/ Tif3d® Sifiaiat

27) If a child does not turn when called from behind, uses gestures excessively and does not understand spoken
language, he might be suffering from:/ af¢ 1§ g=1, TI¥ ¥ (AR 9 R 6 ST 8, TMA-HTAl BT SATUHTH STANT T ¢ 30T et
ST arelt YT g JHgET, @ 98 U §f 9%l o

1. Hearing impairment/ YT T
2. Learning disability/ 3ifrm (e Tadh sremar
3. Mental retardation/ AFRI®G Hadl



4. None of the above/ IWRigd & § PTs T8l

Correct Answer :-

« Hearing impairment/ YU T Y

28) Human development is the study:/ 914 fasrg TG &
1. Of children aged 2-12 years/z-lzfﬂf$iﬁﬁ$l

2. From conception to 12 years/ THIUM ¥ 12 99 3afy &1

3. From conception to adolescence/ i ¥ feiRay srafdr &

4. From conception to old age/ THIYM ¥ I 3G % HI

Correct Answer :-

« From conception to old age/ mrferﬁﬁq:s:sngwm

29) Which among the following services is an important component of ICDS?/ g & & @1 it Aa1, aEEied 1 T

gyl gew @2

1. Scholarships to meritorious students/ ﬁgma%maqﬁm

2. Providing Juvenile justice/ dTcl =1 UG HRAT

3. Providing Concessions in fares to needy students / SReXAHG B &g [l § Ramd W AR &1

4. Providing nutrition and health education/ TI9oT 3R Tarea e Ue &=

Correct Answer :-

« Providing nutrition and health education/ 90T 3R o= e Ua &

30) “Tabula rasa” means:/ “éﬂ?ﬁ 1" BT GIQf%:
1. Tabular arrangement/ IRUNES fa=m

2. Blank Slate/ PRI e

3. Table and chair/ B 3R Hdf

4. Board and slate/ SIS 3R &We

Correct Answer :-

« Blank SIate/ﬁﬁ@'cr

31) ICDS stands for:/ STSHISITH (1CDS) FT FT 3% &:

1. Integrated Children Developmental Scheme/ T&hidd aTd G T Ao
2. Integrated Child Development Services/ T&I%d aId f[AH YaTy

3. International Child Development Services/ @mﬁ@awﬁww
4. International Child Development Scheme/ STRISTT aTd faeTe drerT

Correct Answer :-

« Integrated Child Development Services/ T®idd aTd (G HaTy

32) Children with Profound retardation have an IQ below:/ WgR T ardt gt &1 anéaqﬁw@tmsﬁm%
1. 50

2.40

3.30

4.25

Correct Answer :-

« 25



33) ICDS scheme was launched in the year:/ 3SHSITY g1, f5g af Ry Ft 718:
1. 1970

2.1975

3.1980

4. 1985

Correct Answer :-

« 1975

34) To which age group do the pre-school children belong?/ W—fﬁfﬁm Gﬂgwﬁﬂ'ﬁﬁﬁ 3’[’3%"
1.1-2 years/l-za'ﬂf

2. 2-3 years/2-3 CL

3.3-6 years/3-6?ﬂ$f

4. 6-7 years/6-7 T

Correct Answer :-

« 3-6 years/3-66|15f

35) Which among the following can be described as a process used for bringing about a relatively permanent change
or modification in behaviour as a result of practice or experience?/ g ¥ | &, srary a1 3qyd & uRumaasy aaeR &
SveTpd R uiad= a1 WRiteE aM ¥ e uged uftear & w0 & o8l &1 a%aT 82

1. Recreation/ TG

2. Exercise/ 31¥TH/aqTAH

3. Learning/ SHfrTHAfRaT

4. Aesthetic appreciation/ Tied Ay

Correct Answer :-

« Learning/ 3ifeRTH/ARGT

36) The growth sequence that starts at the centre of the body and moves towards the extremities is called:/ WRF
F5 T URY N aTaT a7 ITgFSH 9F WA aren i v, FerdT o

1. Cephalocaudal law/ Rithargsa fam
2. Patterned law/ T &1 g

3. Proximodistal law/ UieIAITSEd Fod
4. Far-outward Law/ BR-3A3edTS AaH

Correct Answer :-

« Proximodistal law/ Uifeqaifeted fFom

37) Which among the following is not a kind of puppet?/ ﬁaﬁ'ﬁaﬁ-—r, Wﬂﬂ?ﬁﬁwwﬁ%"
1. Doll/ STd

2. Glove/ Q&1

3. Stick/ Tt

4. String/ 3

Correct Answer :-

« Doll/ 3f@

38) Which among the following term is used to refer to the developing baby from the time of implantation until the

beginning of bone formation?/ A& | fFa g &1 Iwa, TUTe ¥ WHY | gi¥sal 991 9% fasiia gia gy ¥ forg fomar wmar @2
1. Ovum/ 3iS1Y



2. Sperm/ R[h1Y]
3. Embryo/ YUl
4. Foetus/ v fR1g]

Correct Answer :-

« Embryo/ YUl

39) Legal age for marriage for a male is:/ &9 g 418 @t ST MY &
1.18 years/lsa’ﬁf

2.19 years/l‘)a'ﬁf

3.20 years/ZOEFSf

4. 21 years/21 EL

Correct Answer :-

« 21 years/21 CL

40) To learn social behaviour the most common ways is:/ TS AGER G BT I IMH THT 8
1. Imitation/ 30T

2. Empathizing / SHIHfA

3. Sharing/ STGR

4. All of the above/ Iulad gt

Correct Answer :-

« All of the above/ STRIa Tt

41) Which among the following can be done to prevent disabilities?/ Mmﬁaﬁ?smﬁaﬁﬁwﬁmmm%?
1. Early identification/ <t Ugda

2. Timely intervention/ WWE’F‘T&){C{

3. Both of the above/ IWRIad GHI

4. None of the above/ mﬁ@fﬁé?ﬁ

Correct Answer :-

. Both of the above/ IWIad gl

42) Object permanence according to Piaget is established in which stage of the Cognitive development theory?/fﬁ'tnﬁ

¥ IR, I R Srerces e Risia & frw o & wafta g @2
1. Sensorimotor/ HagIIR®

2. Pre-operational/ Jd-Sfsards

3. Concrete operational/ 319 dforards

4. Formal operational/ 3o Tfsharers

Correct Answer :-

« Sensorimotor/ HAgIIR®

43) Dyslexia, Dysgraphia and Dyscalculia are types of:/ fsaafamn, fsmnfrar 3R fewdepiom, fFad R §:
1. Neurological disorders/ df@®1a fd@R

2. Mental retardation/ A& Hedl

3. Learning disabilities/ 3 (Tem Tddh sremamg

4, Hearing Impairments/ 40l §T4TQ

Correct Answer :-



« Learning disabilities/ 3 (e Teefh sremang

44) Which among the following means the subjecting of a child by any person to physical punishment that involves
the deliberate infliction of pain as retribution for an offence, or for the purpose of disciplining or reforming the child?/

e d A e a8F A 92 3 ol o1y & 9ea &, 97 SR § 7@ a7 9= § gUR S+ & Ig¢d o forelt aafda g1 318 3y gvs
e wman B, s siafa sggra) det ugas wrdt @2

1. Corporal Punishment/ IRIR® U8

2. Emotional Abuse/ W@Bﬁﬁ—s’ﬁ

3. Psychological abuse/ AAATI® AR
4. Neglect/ J0e

Correct Answer :-
« Corporal Punishment/ ¥ AR® gus

45) Preschool education lays emphasize on the development of Three R’s, which are:/ W—I&ﬁlﬁﬁ?ﬁ?&ﬂ? (R)%ﬁﬂﬂ'ﬂ
WRER R wmar g, s a &

1. Reading, Recitation, Reaction/ UgT, Gg=I, ufafsar

2. Reading, Racing and Resting/ Ue-l, aﬁ's:n Rym

3. Reading, Recitation and Recreation/ Ugl, 'cﬁ‘ERFﬂ, 3R AR
4. Reading, Writing and Arithmetic/ Ue, forge oiR o

Correct Answer :-

« Reading, Writing and Arithmetic/ UgI, INCEIRCIERIIU



